lnvitation to Bid Neo. :

Specification No, : RHDW-011/2556

C
C1
la
ib
e
)
id

Material, equipment, and specifications for OVERHEAD LINE HARDWARE

General material and packing instructions

Additional to the general instructions, the following shall be observed :

Scope

Thesce specifications cover line hardware for overhead line construction.

Standard

The overhead line hardware shall be in accorddnce with the latest TIS, VDE

chulétions, DIN, and PEA Drawings attachcd to these specifications, or

cquivalent,

Principal requifement

The overhead line hardware shall be marked with manufacturer’ s name or trade-
mark, cxcept full threcad double arming bolts, full thrcad stubbing bolts, and
washcrs.

All ferrous matcerials shall be galvanized after manufacturing.  Mecthod of
galvanizing and thickness of coating shall be according to the attached Tablc
“THICKNESS OF ZINC COATING . Frcc samplcs shall bc supplicd on
request.  The samples will not be returmncd.

Packing

Each itcm should be packed in suitable packages in scts or picces of 10, 50, 100,
or that specificd in Table ““Packing Details for Overhead Linc Hardware . (sce
pagc 3 of 3).

The gross weight of cach package should not cxceed 40 kg.

If there arc scveral packages. the number of package shall be stamped on cach
packagc or cach tag, as follows : .

package number / total number of packapes.

Form No. 93-2/9.13

Pagc | of 3


http:93-.2/9.13

C2

2a

2b

2c

Material and packing data to be given by bidder

For cach itcm offcred, the following details shall be submitted with the bid :
Cataloguc number,

Description of matcrials uscd for thc component paits.

Surface finishing of the componcent paits.

Zinc coating in g,/m2 or pm (1 pm = 0.001 mm).

Minimum brcaking strength in kgf.

Wocight in kg/sct or picce.

For cach item offered, a detail drawing with dimensions in mm shall be submiticd

with the bid.

Packing details

Packing mcthod.

Number of scts or picces in cach package.

Dimcnsions of cach package in cm.

Gross wcight of cach package in kg (should not cxceed 40 kg).
Nect weight of cach package in kg.

Number of packages.
If scveral packages arc contained in one big case, further details are required :

Number of packages in cach casc.
Dimensions of cach casc in cm.
Gross weight of cach casc n kg.

Numbcer of cascs.

Form No. 93-2/9.13

Pagc 20f 3

U


http:93-2/9.13

N v

%

Table

Packing Details for Overhead Line Hardware

Quantity

PEA Material No. Packing Method
Per Package

00120004, 01000103 18 Bundle
01200001, 01200002 20 Bundle
01010100, 01200004, 50 Bundle
01200005 |
01200007 150 (15 per layer) Bundle
01110200, 01110201,
01140000, 01170001, 150 Sack
01180001 ‘
01110202, 01110203 100 Sack
01110204, 01110205, 75 Sack
01140001, 01140002 |
01110206, 01110207,
01110208, 01110401,
01120000, 01120001, . 50 Sack -
01120002, 01130000,
01130001, 01130002,
01140003
01180100, 01180201 500 Sack
01180301 5,000 Sack
02440102 30 Sack
02440103 60 Sack

Form No. 93-2/9.13

Page 3 of 3

I



http:93-2/9.13

TECHNICAL SPECIFICATION DIVISION

PROVINCIAL ELECTRICITY AUTHORITY

PACKING DETAIL

Specification No.: -

Approved date: 14/08/2558

Rev. No.: -

Form No. -

Page 1 of 3

Addendum

This addendum is made to be a part of specifications it’s attached.

1. Replace the packing detail only for the specific items in the specifications by the packing detail specified in

Table A1 below:

Table Al: Packing Detail

4,000 mm

Number of
PEA’s material Packing Quantity per
Item Equipment packages/cases
No. method package/case
per pallet
Connectors and cable accessories:
1 Hot line bail clamp (hot line stirrup clamp), for | 1-02-033-0000 Sealed 40 49
main aluminium conductor size 25 mm” to 50 mm” package
2 Hot line protected thread clamp for main aluminium | 1-02-033-0100 Sealed 50 100
conductor size 25 mm’ to 50 mm’ package
3 Hot line protected thread clamp for main aluminium | 1-02-033-0101 Sealed 50 50
conductor size 50 mm’ to 120 mm’ package
4 Compression splicing sleeve, full tension, for | 1-02-040-0002 Suitable 100 100
aluminium conductor size 50 mm’ package
5 Compression splicing sleeve, full tension, for | 1-02-040-0004 Suitable 50 100
aluminium conductor size 95 mm’ package
6 Compression splicing sleeve, full tension, for | 1-02-040-0007 Suitable 30 50
aluminium conductor size 185 mm’ package
7 Compression splicing sleeve, full tension, for | 1-02-040-0009 Suitable 30 50
aluminium conductor size 400 mm’ package
8 Compression splicing sleeve, partial tension, for | 1-02-041-0002 Suitable 100 100
aluminium conductor size 50 mm’ package
9 Terminal connector (lug), compression type, for | 1-02-041-0106 Suitable 50 50
aluminium conductor size 185 mm’ package
10 | Pin terminal, for aluminium conductor size 50 mm’ 1-02-042-0400 Suitable 50 100
package
Overhead line hardware:
11 | Angle steel crossarm, size 150x100x12 mm, length | 1-00-012-0002 Bundle 10 -
4,500 mm
12 Channel steel crossarm, size 100x50x5 mm, length | 1-01-000-0103 Bundle 20 -
4,200 mm
13 Channel steel crossarm, size 100x50x5 mm, length | 1-01-000-0104 Bundle 20 -
4,500 mm
14 Channel steel crossarm, size 150x75x6 mm, length | 1-01-000-0300 Bundle 20 -
2,800 mm
15 Channel steel crossarm, size 150x75x6.5 mm, length | 1-01-000-0301 Bundle 20 -

11




TECHNICAL SPECIFICATION DIVISION

PROVINCIAL ELECTRICITY AUTHORITY

PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form No. - Page 2 of 3
PEA’s material Packing Quantity per Number of
Item Equipment packages/cases
No. method package/case
per pallet
16 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0302 Bundle 20 -
4,500 mm
17 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0303 Bundle 20 -
6,000 mm
18 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0304 Bundle 20 -
2,500 mm
19 Channel steel crossarm, size 150x75x9 mm, length | 1-00-012-0004 Bundle 20 -
3,000 mm
20 | Angle steel beam, size 65x65x6 mm, length 1,000 mm | 1-01-001-0000 Bundle 100 -
21 Bolt, machine, M 16 x 170 mm 1-01-011-0201 Sack 100 56
22 | Bolt, machine, M 16 x 300 mm 1-01-011-0204 Sack 80 56
23 Bolt, machine, M 16 x 350 mm 1-01-011-0205 Sack 80 56
24 | Bolt, machine, M 16 x 450 mm 1-01-011-0207 Sack 40 56
25 Bolt, machine, M 16 x 500 mm 1-01-011-0208 Sack 40 50
26 | Bolt, machine, M 16 x 600 mm 1-01-011-0209 Sack 40 50
27 | Bolt, machine, hexagon head, M 16 x 75 mm 1-01-011-0400 Sack 200 56
28 Bolt, machine, hexagon head, M 16 x 550 mm 1-01-011-0401 Sack 40 50
29 | Bolt, machine, hexagon head, M 16 x 600 mm 1-01-011-0402 Sack 40 50
30 | Bolt, machine, hexagon head, M 16 x 650 mm 1-01-011-0403 Sack 30 50
31 | Bolt, double arming, full thread, M 16 x 450 mm 1-01-012-0001 Sack 40 50
32 | Bolt, double arming, full thread, M 16 x 500 mm 1-01-012-0002 Sack 40 50
33 Bolt, double arming, full thread, M 16 x 550 mm 1-01-012-0003 Sack 40 50
34 | Bolt, double arming, full thread, M 16 x 600 mm 1-01-012-0004 Sack 40 50
35 Bolt, double arming, full thread, M 16 x 650 mm 1-01-012-0005 Sack 30 50
36 | Bolt, double arming eye, M 16 x 450 mm 1-01-013-0001 Sack 40 56
37 | Bolt, double arming eye, M 16 x 500 mm 1-01-013-0002 Sack 40 50
38 | Bolt, double arming eye, M 16 x 650 mm 1-01-013-0005 Sack 30 50
39 | Bolt, round eye, M 16 x 200 mm 1-01-014-0001 Sack 80 56
40 | Bolt, round eye, M 16 x 250 mm 1-01-014-0002 Sack 80 56
41 Bolt, round eye, M 16 x 300 mm 1-01-014-0003 Sack 50 56
42 | Bolt, oval eye, M 16 x 150 mm 1-01-015-0000 Sack 80 56
43 Bolt, oval eye, M 16 x 200 mm 1-01-015-0001 Sack 80 56
Insulators and accessories:
44 | Insulator, pin-post type, TIS 1251, Type 56/57-2 1-03-001-0101 Export 2 30
package
45 | Clevis-eye 1-03-014-0000 Suitable 40 56
package
46 | Ball-clevis, ANSI Type K 1-03-014-0001 Suitable 30 56
package

11




TECHNICAL SPECIFICATION DIVISION

PROVINCIAL ELECTRICITY AUTHORITY

PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form No. - Page 3 of 3
Number of
PEA’s material Packing Quantity per
Item Equipment packages/cases
No. method package/case
per pallet
47 | Ball-hook, ANSI Type B 1-03-014-0002 Suitable 40 56
package
48 | Ball-clevis, ANSI Type B 1-03-014-0005 Suitable 40 56
package
Surge arresters:
49 | LV surge arrester, 480 V, 5 kA 1-04-000-0300 Suitable 100 5
package
Meters:
50 | Watt-hour meter, 15(45) A, 3-phase 4-wire 1-06-005-0107 Suitable 50 -
corrugate-paper
package
51 | Watt-hour meter, 30(100) A, 3-phase 4-wire 1-06-005-0108 Suitable 50 -
corrugate-paper
package
2. Sacks used for packing equipment shall have enough durability and shall be made of hemp rope.
3. Bundle packing shall be using galvanized steel wires with diameter not less than 4 mm.
4. Pallets supplied to PEA shall have dimension not more than 1.1 m x 1.1 m (Width x Length) and the total

11

height after containing the packages/cases shall be less than 1.5 m.




invitation to Bid No. :

Specification No.: RHDW-011/2556

C3 Schedule of detailed requirement

PEA
Item Material Quantity Description
Ne.
| 01200001 Bracc, flat. for crossarm, of flat steel 30x6x760 mm. scc
(Aot0200001) Drawing No. K 31-09063.
2 01200002 Ditto as ltem 1. but 40x6xl,0bO mm, scc Drawing No.
(Ao\o 20000 3) K 31-09063 .
3 01200003 Ditto as ftem 1, but 50x10x1.950 mm, sece Drawing No.
(1040300007 ) SA2-015/39005.
4 01200004 Brace, alley arm, of angle stecl, 40x40x5 mm, 2,120 mm
(A0 10200001) long. scc Drawing No. K 31-09064.
5 01200005 Ditto as Item 4, but 50x50x6 mm, 2,350 mm long, scc
CloNea00009) Drawing No. K 31-09064 . '
6 01200007 Brace , for crossamm . of hot —rolled cqual angle steel |
CA040200009) S0xS0x6 mm , 1,800 mm wide , 450 mm drop . hot - dip
galvanized not less than S0 micrometer , scc Drawing No.
SB1-015/22014.
7 01110000 Bolt, machine, of mild stccl, squarc hcad, similar to DIN 601,

10

(10104 0000)

01110101
C\otoirotol)
01110200
CloAcANel0o)
01110201
CL0Y 04N O20Y)
01110202
CA0A 0020y )

II.

M 8, 25 mim long, icngth of thread 22 mm, complctc with onc
(1) squarc nut, scc Drawing No. [50-015/140367.

Ditto as ftem 7, but M 12, 50 mm long, Iength of thrcad

40 mm, scc Drawing No. [50-015/140367.

Ditto as Itcm 7, but M, 16, 130 mm long, lcngth of thicad 35
mm, scc Drawing No. K31-09072.

Ditto as Itcm 7, but M 16, 170 mm long, length of thrcad 50
mm. scc Drawing No. K31-09072.

Ditto. as Itcm 7, but M 16, 200 mm long, Iength of threcad 50
mm. sce Drawing No. K31-09072.



Invitation to Bid No. :

Specification No. : RHDW-011/2556

C3 Schedute of detailed requirement

Clotott o4

PEA
Item Material Quantity Description
No.
12 01110203 Ditto as ltem 7, but M 16, 250 mm long, length of thrcad 75
(lotothcuoy) mm, scc Drawing No. K31-09072.
13 01110204 Ditto as ftem 7, but M 16, 300 mm long, length of thread 75
ChotoMozom) mm, scc Drawing No. K31-09072.
14 01110205 Ditto as Item 7, but M 16, 350 mm long, lcngth of thicad 75
—~ CW) mm, scc Drawing No. K31-09072.
15 01110206 Ditto as Item 7, but M 16, 400 mm long, length of thrcad 100
C 1o4011030b) mm, scc Drawing No. K31-09072.
16 01110207 Ditto as ltem 7, but M 16, 450 mm long, Iength of thrcad 100
C10101A 0907) mm, sce Drawing No. K31-09072.
17 01110208 Ditto as Item 7, but M 16, 500 mm long, length of thrcad 150
Clotot1olok) mm, scc Drawing No. K31-09072. ,
18 01110209 Ditto as Item 7, but M 16, 606 mm long, length of thrcad 200
(1olot104%) mm.
19 01110300 Ditto as Item 7, but M 20, 350 mm long, lcngth of thread 100
C1o10410%00) mm.
N 20 01110301 Ditto as ltem 7, but M 20, 400 mm long, length of thrcad 100
| Clo10110%01) mm, sc¢ Drawing No. SB1-015/22017.
21 01110302 Ditto as Itcm 7, but M 20, 450 mm long, lcngth of thrcad 100
Clolcto%0)) mm, scc Drawing No. SB{-015/22017.
22 01110303 Ditto as Item 7, but M 20, S50 mm long, lcngth of thrcad 150
Clororhobo?) mm, sc¢ Drawing No. SB1-015/22017.
23 01110400 Bolt, machinc, of mild stcel, hexagon head, similar to DIN

601, M 16,75 mm long, length of thrcad 75 mm; complctc
with onc (1) hexagon nut, one (1) lock nut, and two (2) round
washers, similar to DIN 555, DIN 936, _and DIN 126
respectively; see Drawing No. SA2-015/39019 .



Invitation to Bid No. :

Specification No. : RHDW-011/2556

C3 Schedule of detaited requirement

PEA
ftem Material Quantity Description
No.
24 01110401 Bolt, machinc, of mild stcel, hexagon head, similar to DIN
Cietotroaot) 601, M 16, S50 mm long, length of thrcad (50 mm;
complete with onc (1) hexagon nut, one (1) lock nut, and two
(2) round washcrs, similar to DIN 555, DIN 936, and DIN 126
respectively: see Drawing No. S 01-015/18035 .
25 01110402 Ditto as Item 24, but M 16, 600 mm long, length of thread
Ciotohnoaoa) 150 mm, scc Drawing No. SO1-015/18035 .
26 01110403 Ditto as Item 24, but M 16, 650 mm long, length of thread
Cioto11040%) 150 mm, scc Drawing No. SA2-015/39019 .
27 01120000 Bolt, double arming, full thrcad. of mild steel, M 16, 400
(Yet0 1) 0000) mm long. complete with four (4) squarc nuts, sce Drawing
No. K31-09069
28 c lg'{clgggg}ﬁ ) Ditto as [tem 27, but M 16,450 mm long, soe Drawing No. K3 1-09069.
29 m} Ditto as [tem 27, but M 16, 560 mm long, scc Drawing No. K3 1-09069.
30 01120003 Ditto as ltem 27, but M 6, 550 mm long.
31 ng_l‘%é&oﬁﬁ) Ditto as ltcm 27, but M 16, 600 mm long, soc Drawing No. K3 1-09069.
32 A ‘§i22:§§§§5 Ditto as ltem 27, but M 16, 650 mm long.
33 01130000 Bolt, doublc arming cyc, of mild stecl, forged round eyc
Clw) having 22 mm diamcter hole, M 16, 400 mm long, length of
thread 350 mm; completc with threc (3) squarc nuts,
minimu.m breaking strength not less than 5000 kgf: see
Drawing No. S01-015/17007 .
34 01130001 Ditto as Item 33, but M 16, 450 mm long, length of thread
Cloro1yoeot) 400 mm, scc Drawing No. S 01-015/17007.

fI.




Invitation to Bid No. :

Specification No. :

RHDW-011/2556

C3 Schedule of detailed requirement

PEA
Item Material Quantity Dexcription
No.
15 01130002 Ditto as Item 33, but M 16. 500 mm long, length of thrcad
Clotosveoo.) 450 mm, scc Drawing No. S 01-015/17007.
36 01130003 Ditto as ltcm 33, but M 6. 600 mm long, length of thread
010 {300C
Cielo (H000%) 550 mm, scc Drawing No. S 01-015/17007.
37 01130004 Ditto as [tem 33, but M 16, 550 mm long, length of thread

39

40

41

43

Croio 1 H000Y)

01130005
Cl010 1%0005)

01140000
(\0\0 YA paeo)

(1 010 4 Ac00K)

01140001
C1040440001)

01140002
C101 0\A0003)

01140003
CleY01A000%)

18

500 mm, sce Drawing No. S 01-015/17007.

Ditto as ltem 33, but M 16, 650 mm long, length of thrcad
600 mm, scc Drawing No. S 01-015/17007.

Bolt, round cyc, of mild stcel. forged round cye having

22 mm diamcter hole, M 16, 100 mm long, length of thrcad

75 mm; complcte with two (2) squarc nuts, minimum breaking
strength not less than 5,000 kgf, scc Drawing No.
S01-015/19041.

Ditto as Item 39, but M 16, 150 mm long, lcngth of thrcad 100
mm, scc Drawing No.SA2-015/39018 .

Ditto as Item 39, but M 16, 200 mm long, length of thrcad 150
mm, scc Drawing No.S 01-015/19041 .

Ditto as Item 39, but M 16, 250 mm long, length of thread 200

mm, scc Drawing No.S 01-015/19041 .
Ditto as Item 39, but M 16, 300 mm long, length of thread
250 mm, scc Drawing No. S 01-015/19041 .



Invitation to Bid No. :

Specification No. :

RHDW-011/255%

C3 Schedule of detailed reguirement

PEA
Item Material Quantity Bexcription
No.
44 01150000 Bolt, oval cye, forged steel, M 16, 150 mm long, length of
C1et01S coce) thicad 100 mm, complcte with onc(l) square nut, minimum
breaking strength not less than 6,500 kgf, scc Drawing No.
SBI1-015/22018.
45 01150001 Ditto as Itcm 44, but M 16, 200 mm long, length of thrcad
Clo\orso0t) 150 mm., scc Drawing No. SB1-015/22018.
;/_\ 46 01150002 Ditto as Item 44, but M 16, 350 mm long, length of thrcad
- C101015000) [50 mm. scc Drawing No. SB1-015/22018.
47 01150100 Ditto as ltem 44, but M 20, 350 mm long, length of thrcad
C\o\ei50400) 150 mm, minimum brcaking strength not less than 12,000
kgt, sec Drawing No. SB1-015/22019.
.48 01150101 Ditto as Item 44, but M 20, 450 mm long, length of thrcad
(CyoroAS e\ O)) 200 mm, minimum breaking strength not lcss than 12,000
kgf, sce Drawing No. SB1-015/22019.
49 01160000 Bolt, stubbing, full thrcad, of mild stecl, M 24, 600 mm long,
CloN0tvooee) complcte with four (4) squarc nuts and two (2) flat washers
72x72x6 mm, 26 mm diamcter hole.
o~ S0 0101‘60(9301 ) Ditto as [tem 49, but M 24, 800 mm long .
< :_751 e\ 0\0“00204) Ditto as Itcm 49, but M 24, 1,000 mm long .
52 01160003 Ditto as Itcm 49, but M 24, 1,250 mm long .
53 C%I\_?%%ogggj) Ditto as [tem 49, but M 24, 1,600 mm long .
¢ !o\o\ L0004)
54 01180001 Nut, cye, of mild stcel, similarto DIN 582, forped eyc 35
C1elo 1%ooct) mm in diamcter, thread for bolt M 16, minimum breaking
strength not less than 5,000 kgf, scc Drawing No. S 0l1-
015/16004 .
55 01180002 Eyclet, according to NEMA standards or cquivalent,
(10101£000)) minimum brcaking strength not lcss than 8,320 kgf, scc

Il

Drawing No. SB1-015/22028.



Invitation to Bid No. :

Specification No. :

RHDW-011/2556

C3 Schedule of detailed requirement

PEA
ftem Material Quantity Description
Ne.
56 01180003 Nut. cyc. thimble. forged steel, thread for bolt M 16, mintmum
C\_O_‘QW._O‘LO}) breaking strength not less than 6,500 kgf, sce Drawing No.
SB1-015/22029.
57 01180004 Ditto as ftecm S6, but thread tor bolt M 20, minimum breaking
(1oy01ko0oty) strength not less than 8,200 kgf, scc Drawing No. SBI-
& 015/22029.
58 01180100 Washer, square, flat, of steel, according to Table 6 of TIS
C10101%0100) 258, nominal sizc 16 ( 18 +8-7 mm diamecter holc),
S2x82x4.5 mm.
59 01180101 Ditto as Item S8, but nominal size 20 (22 M 0(')8 mm
Clotolgoron) diamcter hole), 62 x 62 x 6 mm.
60 01180102 Ditto as ltem S8, but nominal sizc 24 (26 N o mm
Cioioleioy) diameter hole), 72 x 72 x 6 mm.
61 ~01_180103‘ Ditto as ltem S8, but nominal sizc 12 (14 +0(')7 mm
CMI» diamcter hole), 40 x 40 x 3.2 mm.
~ 62 01180200 Washer, squarc, curved, of mild stecl, dimensions 50x50xS mm, 18
' C 1010 |¥000) mm diameter hole, sce Drawing No. K 31-09073.
63 01180201 Ditto as [tem 62, but dimensions 60 x 60 x 5 mm, 22 mm
(lotot¥020)) diameter hole, scc Drawing No. K31-09073 .
64 01180300 Washer, lock. of spring steel, according to Table 1 of TIS 259,
CM) nominal size 12 (12.2 4'(())'6 mm diamecter hole), 21.5 mm
maximum outside diameter, 3.0 mm minimum thick.
6s | 01180301 Ditto as Itcm 64, but nominal size 16 (162 7 0> mm diameter

C \ol0190%0Y)

It

hole). 28.0 mm. maximum outside diamcter, 4.0 mm minimum

thick.



- |0 -
Invitation to Bid No. :

Specification No.: RHDW-011/2556
C3 Schedule of detailed requirement

PEA
Item Material Quantity Description
No.
66 01180302 Ditto as ltem 64. but nominal sizc 20 (20.2 " 8'8 mm diamcter
Cw - hole), 33.8 mm. maximum outsidc diameter, 5.1 mm minimum
- thick.
67 | 01180303 Ditto as liem 64, but nominal size 24 245 * (¢ mm
C \010ig0%0%) - diameter hole), 40.3 mm. maximum outside diameter, 5.9 mm
| minimum thick.
68 01050000 Pipe, steel, nominal size 20 ( 26.9 + 0.4 mm outsidc diamcter ),
C.U’JQQE?Q"? wall thickncss not less than 2.27 mm, 100 mm long. without
thrcad on both cnds. hot-dip galvanized not less than 65 um |
or pipe from galvanized steel pipe.Type 2, in accordance with
TIS 277 shall be accepted.
69 01050002 Ditto as [tem 68, but |50 mm long.
70 C%ﬁ'}?’f’}—%&) Attey-atmof-channel-steckH00x50xS-mm2250-mmilong;
oo 600 100)
AR —sce-Drawing-No—SBH0+5/3H004- [liaunirduavil RHOW-004/2550 (tem 1) lumsind
71 00120004 Crossarm, of channcl steel, 150x75x9 mm, 3,000 mm long,
Clooo)Joooi) scc Drawing No. SA2-015/39005.
72 01000400 Channel steel beam, according to Table 4 of TIS 1227, with :
C !MOOOOAOO)' Nominal sizc : 200 x 80 x 7.5 mm
Length : 1,000 mm
Punched holcs/slots, and fabricated as shown in Drawing No.
SA2-015/23010.
73 01010000 Angle steel beam, according to Table 2 of TIS 1227, with :
C\0100 10000) Nominal sizc : 65%65x6 mm
Length : 1,000 mm
Punched holes/slots, and fabricated as shown in Drawing No.
SA2-015/23009.

{8


505134
Line

505134
Line

505134
Line

505134
Text Box
ใช้สเปคอ้างอิงเลขที่ RHDW-004/2550 (Item 1) ในการจัดซื้อ


Invitation to Bid No. :

Specification No. :

RHDW-011/2556

C3 Schedule of detailed reguirement

79

80

81

Clotocrol00)

02440102
C10204A0103)

02440103
(10204 010%)

02440112
Clo20820102)

01000106

C10)0000j0v)

Il

PEA
Item Mouterial Quantity Description
No.
74 01030102 Plate, steel double arming, 12x100 mm, 760 mm long, scc
(loto0voto) Drawing No. SA2-015/28002.
75 0314001t Thimble clevis, pressed steel, minimum breaking strength
Clo»o140041) not less than 900 kgf, sce Drawing No. S01-015/19058.
76 03140013 Plate spacer, of mild stecl, minimum ultimate strength not
Clo%014001%) lcss than 16,500 kgf. scc Drawing No. SB1-015/22042.
77 01030002 Plate, steel, 6x100 mm, 450 mm long, scc Drawing No.
( lo'00%000)} SB1-015/22015.
78 01030100 Plate, stecl, double arming, 12x100 mm, 650 mm long, sec

Drawing No. SB1-015/22016.

Clamp, guy. triplc bolt, suitable for steel stranded wirc ~ 50-
95 mm’, scc Drawing No. SA2-015/23024.

Link for cablc spaccr, 9.0 mm diamcter steel round
bar, scc Drawing No. SA2-015/23024.

Bracket, of channcl steel, [00x50xS mm, for aerial cablc

comer support, sce Drawing No. SA2-015/56006 .

Crossarm, of channel stecl, according to Table 4 of TIS
1227, with :

: 100 x 50 x S mm

: 2500 mm

Nominal sizc
Length
Punched holcs, and fabricatcd as shown in Drawing No.

SA2-015/39025.



Invitation to Bid No. :

Specification No. :

- §2 -

RHDW-011/2556

C3 Schedule of detailed requirement

PEA
Item Material Quuntity Description
No.
83 01000201 Ditto as Item 82, but
(101 0ooo20Y) Nominal size © 125x 65 x 6 mm
Length - 3,000 mm
Punchced holes, and fabricated as shown in Drawing No.
SA4-015/39025.
N 84 01110404 Bolt, machinc, of mild stcel, hexagon head, similar to DIN
CW) 601, M 16,50 mm long, Icngth of thrcad 40 mm ; complcte
with one (1) hexagon nut, and two (2) round washers,
similar to DIN 553, and DIN 126 respectively:  see
Drawing No. SA2-015/40001.
85 02200106 Vibration dampcr, dumbclls type (stockbridge), for overhcad
(102020010k) ground wirc diameter range 9.0 - 10.0 mm (Stec! stranded
wirc 50 mm’ ), approximatc total weight 1.6 kg (3.5 pounds).
86 02200107 Vibration dampcr, dumbells typc (stockbridge), for conductor
C102020010Y) diamcter range 27.0 - 29.0 mm (ACSR conductor 380/50
— mm®*), approximatc total weight 7.3 kg (16 pounds).

i

Note :
1. Pitches of steel bolts and nuts shall be according to
the attached “Nominal Thrcad Diameters and Pitches

of Stecl Bolts and Nuts™.

|88

Dimcnsions and tolcrances of M 16 machinc bolts
shall be as spccificd in the attached “Dimensions and
Tolcrances of M 16 Machine Bolts™.

3. ONLY thrcads of stecl bolt and nut shall meet
acceptance tests specified in the attached
“Acccptance Tests for Threads of Steel Bolt, Anchor

Rod, and Nut™.



Invitation to Bid No.

) “13 s )
Manufacturer :

Trade-mark :

Specification No. : RHDW-011/2556 Country of Origin:
C4 Price schedule

Bidder :
Bid No. :

Date :

[tem

PEA
Material

No.

Catalogue
No.

Description Quantity

Unit Cost
(See detaily
& conditiony

attached)

Total Cost
(Sec detally
& conditiony

attached)

(1200001
Cl010200c0)
01200002
CoA\@200003)
01200003
C\O\anooo’;j
01200004
C10\0 200004
01200005
0101050000 G)
01200007

C \Oto.)ooooj)

011100600
Clo'01} 6000)
01110101
Clovoriolo)
01110200

(101011000

18

Brace, flat, for crossarm, of flat steel 30x6x760 mm .

Ditto as Item 1, but 40x6x1,000 mm .

Ditto as itecm 1, but 50x10x 1,950 mm .

Brace, aliey arm, of angle steel, 40x40x5 mm, 2,120 mm long .

Ditto as Item 4, but 50x50x6 mm, 2.350 mm long .

Brace , for crossaim , of hot — rolled equal angle steel , 50x50x6
mm, 1,800 mm widc . 450 mm drop , hot - dip galvanized not less
than 50 micrometer, see Drawing No. SB1-015/22014

Bolt, machine, M 8x 25 mm, complcte with one (1) square nut .

Ditto as Item 7, but M 12x 50 mm |

Ditto as Item 7. but M 16x130 mm




[nvitation to Bid No.

Specification No, : RHDW-011/2556
C4 Price schedule

)

Manufacturer :
Trade-mark :
Country of Origin:
Bidder :

Bid No. :

Date @

Item

PEA
Material

No.

Catalogue

No.

Description

Quantity

Unit Cost
(See details
& conditions

aitached)

Total Cost
(See detaily
& conditions

attached)

10
11

13
14

16
17
18
19
20

01110201
C\o101 0201)
01110202
C 101011 0203)
01110203
C\oioNolo?

01110204
C\o\e 11 ool)
01110205
(1040 110 JoS )
01110206
Clololiea0Yy)
01110207
C101011030Y)
01110208
Cloto11020%)
01110209
C\o\ot) 030%)
01110300
C1010110%00)
01110301

C\o10110%01)

Ditto as [tem 7, but M 16x170 mm

Ditto as Item 7, but M 16x200 mm

Ditto as Item 7, but M 16x250 mm .
Ditto as Item 7, but M 16x300 mm .
Ditto as Item 7, but M 16x350 mm .
Ditto as Item 7, but M 16x4C0 mm .
Ditto as Item 7, but M 16x450 mm .
Ditto as Item 7, but M 16x500 mm .
Ditto as Item 7, but M 16x600 mm.
Ditto as Itetn 7, but M 20x350 mm .

Ditto as Item 7, but M 20x400 mm .




Invitation to Bid No.

Specification No.: RHDW-011/2556

C4 Price schedule

- 15-

)

Manufacturer :
Trade-mark :

Country of Origin:

Bidder :
Bid No. :

Date :

Item

PEA
Material

No.

Catalogue

No.

Description

Quantity

Unit Cast
(See details
& conditions

attached)

Total Cost

(Sce details
& conditions

attached)

22
23

24

25
26
27
28
29
30

01110302

C10t01\0%0))
01110303
C\ o\ono’:o’y)

01110400
C1010110400)

01110401
Clotollos0y)

01110402
C\olo\\OAoy
01110403
€ 101011040%)
01120000
[ |olot 300C0)
01120001
C 101012000\ )
01120002

Clol0120002)
01120003

Clol 01000%)

I

Ditto as Item 7, but M 20x450 mm .

Ditto as Itemn 7, but M 20x550 mm .

Bolt, machine, hexagon head, M 16x75 mm; complete with onc (1)
hexagon nut, one (1) lock nut, and two (2) round washers .

Bolt. machine, hexagon head, M 16x550 min; complete with one (1)
hexagon nut, one (1) lock nut, and two (2) round washers .

Ditto as Ttem 24, but M 16x600 mm .

Ditto as Item 24, but-M 16x650 mm .

* Bolt, double arming, M 16x400 mm, complete with four (4) square nuts.

Ditto as Item 27, but M 16x450 mm .
Ditto as {tem 27, but M 16x500 mm .

Ditto as Item 27, but M 16x550 mm .




Irtvitation to Bid No.

) - 16- )

Manufacturer :

Trade-mark :

Speciﬁcation No. : RHDW'011/2556 Country of()rigin:
C4 Price schedule Bidder :
Bid No.:
Date :
PEA Catalogue Unit Cost Total Cost
5 .. ) {Scc details (See details
ftem Material No. Description Quantity & conditions & conditions
No. attached) attached)
31 01120004 Ditto as [tem 27, but M 16x600 mm .
Cloto) 2000t
32 01120005 Ditto as Item 27, but M 16x650 mm .
C1010120005)
33 01130000 Bolt, double arming forged round eye, 16x400 mm, complete with
C10101%0000) . .
—— three (3) square nuts, minimum breaking strength ....cooevvvevevrennnee.
kgf.
314 . 01130001 Ditto as [tem 33, but M 16x450 mm, minimum breaking strength
Ctotect)f kgf .
35 01130002 Ditto as Item 33, but M 16x500 mm, minimum breaking strength
C‘.‘Z‘L"?"’;O«?) .......................... kgf.
36 01130003 Ditto as [tem 33, but M 16x600 mm, minimum breaking strength
Qevovy000)l | kgf .

Ir




-17-
Manufacturer :
Invitation to Bid No. Trade-mark :
Specification No.: RHDW-011/2556 Country of Origin:
C4 Price schedule Bldder :
Bid No. :
Date :
PEA Catalogue Unit Cost Total Cost
(See details (See details
tem Material No. Description Quantity & conditions & conditions
No. attached) attached)
37 01130004 Ditto as Item 33, but M 16x550 mm, minimum breaking strength
CM> .......................... kgf .
38 01130005 Ditto as Itemn33, but M 16x650 mm, minimum breaking strength
Cloloso0s)l f kgf .
39 01140000 Bolt, forged round eye, M 16x100 mm, complete with two (2) square
Clotols oaoo) nuts, minimum breaking strength .........cooeinnn. kgf.
40 1Clov0} L}OOOB() Ditto as Item 39, but M 16x150 mm, minimum breaking strength
.............................. kgf .
41 01140001 Ditto as Item 39, but M 16x200 mm, minimum breaking strength
Clolotwooot) | kgf.
42 01140002 Ditto as Item 39, but M 16x250 mm, minimum brcaking strength
(j\ow\woooz) .............................. kgf.

Ir




Invitation to Bid No.

18 -
Manufacturer :

Trade-mark :

Specification No. : RHDW-011/2556 Country of Origin:
C4 Price schedule Bidder :
Bid No. :
Date :
PEA Unit Cost Total Cost
Item | Material | Catalogue Description Quantity (See details Blesdeteils
No. No. & conditions & conditions
astached) attached)

43 1 01140003 Ditto as ltem 39, but M 16x300 mm, minimum breaking strength

C’O_‘Mu’: .............................. kgt .
44 01150000 Bolt, oval cye, M 16x150 mm, completc with one(1) square nut,

CM) minimum breaking strength ... kgf .
45 | 01150001 Ditto as ltem 44, but M 16x200 mm, minimum brcaking strength

Qotolsaty & kgf.
46§ 01150002 Ditto as Item 44, but M 16x350 mm, minimum breaking strength

C‘M@: .............................. kgf. '
47 | 01150100 Ditto as Item 44, but M 20x350 mm, minimum breaking strength

[\olo)501e) | kgf .
48 | 01150101 Ditto as Item 44, but M 20x450 mm, minimum breaking strength

CMD ............................. kgf.
49 | 01160000 Bolt, stubbing, full thread, M 24x600 mm, cornplete with four (4) square

CL‘)O\_‘!’_‘W nuts and two (2) flat washers.

mw




Invitation to Bid No.

Specification No. :

C4 Price schedule

RHDW-011/2556

) - 19- )

Manufacturer ¢

Trade-mark :

Bidder :
Bid No. :

Date :

Country of Origin:

PEA
Matcerial

No.

Catalogue

Ne.

Deseription

Quantity

Unit Cost
(See details
& conditions

artached)

Total Cost
(See details
& conditions

attached)

01160001
Ci01o1%ooot)
01160002
C10101%0002)

011
(10101 %000% )
01160004
¢ 10101 v000Y )
01180001
Ciotoi¢ocoy)
01180002
CY0101%0002)
01180003
¢ !0\0\?00032)
01180004
1001 §000 )
01180100
Clojoltoi00
01180101
¢10\0izoy01)
01180102

CAoV0ig010))
(Ao10190102)

Ditto as Item 49, but M 24x800 mm |

Ditto as item 49, but M 24x1,000 mm .

Ditto as Itcm 49, but M 24x1,250 mm |

Ditto as Item 49, but M 24x 1,600 mm .

Nut, forged eye M 16, minimum breaking strength ..........c.o.... kef.
Eyelet, minimum breaking strength ..................... kgf.

Nut, cye, thimble, minimum breaking strength ..................... kgf.
Ditto as Item 56, minimum breaking strength .........ccocccco.. kgf.
Washer, square, flat, nominal size 16 .

Ditto as Item 58, but nominal size 20 .

Ditto as Item 58, but nominal size 24 .

Ditto as Item 58, but nominal size 12 .




Invitation to Bid No.

Specification No. :

C4 Price_schedule

- 29 -
VManuflacturer @

Trade-mark :

RHDW-011/2556 Country of Origin:

Bidder :
Bid No. :

Date :

Item

PEA
Material

No.

Catalogue

No.

Unit Cost
{See details
Description Quantity & conditions

attached)

Total Cost
{See details
& conditions

attached)

62
63

. 64
65
66
.67
68
69
70
71
72
73
74

01180200
(1016 1%000)
01180201
(\0loltea0))
01180300
C 1010120%00)

01180301
Ci0101%0301)

B
C \oo|?o>;02)

C1010)¥0%0%)
01050000
(101005 0000)
01050002
Cloy ooSOwy

01000100
C \o10000 100)

Clocet2000 W)
01000400
Clotooopo0)

01010000
(101001 0000)

Clotoox010)

HE

Washer, square, curved 50x50x5 mm, 18 mm diameter hole.
Ditto as Item 62, but 60x60x5 mm, 22 mm diameter hole.
Washer, lock, nomiral size 12. |

Ditto as Item 64, but nominal size 16.

Ditto as Item 64, but nominal size 20.

Ditto as {tcm 64, but nominal sizc 24,

Pipe, steel, nominal size 20, 100 mm long.

Ditto as [tem 68, but 150 mm long.

Alley arm, of channel steel, 100x50x5 mm, 2,250 mm long.
Crossarm, of channel steel, 150x75x9 mm, 3,000 mm long.
Channel steel beam, nominal size 200x80x7.5 mm, 1,000 mm long.
Angle stcel beam, nominal size 65x65x6 mm, 1,600 mm long.

Plate, steel, double arming, 12x100 mm, 760 mm long.




Invitation to Bid Ne.

Specification No.: RHEHDW-011/2556

Manufacturs
Trade-mark :

Country of Origin:

C4 Price schedule Bidder :
* . BidNo.:
Date :
PEA Catalogue Unit Cost Total Cost
Item Material No. Description Quantity (See details (See details
No. & conditions & conditions
attached) attached)
75 03140011 Thimble clevis, pressed stecl, minimum breaking strength
Clo3o1001))
...................................... kgf.
76 03140013 Plate spacer : w 58 .
pacer, of mild steel, minimum breaking strength
016%01401) g e
..................................... kgf.
77 01030002
C1010050008) Plate, steel, 6x100 mm, 450 mm long .
78 £ 10160 30100) Plate, stecl, double arming, 12x100 mm, 650 mm long.
79 C\Gozgjaom?&z) Clamp, guy, triple bolt, suitablc for steel stranded wire 50-95 mm’
80 C\OggMO\oy] Link for cable spacer, 9.0 mm diamecter steel round bar
81 02440112 Bracket, of channel steel, 100x50x5 mm, for aerial cablc comer
Clo2oAnoiry)
support.
82 01000106 Crossarm, of channel steel, nominal size 100 x 50 x § mm,
C101000010b)
2,500 mm long.
83 01600201 Crossamm, of channel steel, nominal size 125 x 65 x 6 mm,
Clo10000907 )
3,000 mm long.
84 01110404 Bolt, machine, hexagon head, M 16 x 50 mm; complcte with
Cioovo
'——ﬂ) one (1) hexagon nut, and two (2) round washers.

1



) . )

Manufacturer :

fnvitation to Bid No. Trade-mark :
Specification No. : RHDW-011/2556 Country of Origin:
C4 Price_schedule Bidder :
Bid No. :
Date :
PEA Catalogue Unit Cost Total Cost
ftem Material No. Description Quantity (Sce details (See details
No. : & conditions & conditions
attached) attached)
85 02200106 Vibration damper, dumbells type (stockbridge), for overhead ground wire
(102020010%) diameter range 9.0 - 10.0 mm (Steel stranded wire 50 mm’), approximate

total weight 1.6 kg (3.5 pounds ).

86 02200107 Vibration daraper, dumbells type (stockbridge), for conducter diameter
( 10000107) range 27.0 - 29.0 mm (ACSR conductor 380/50 mm’), approximate total

weight 7.3 kg (16 pounds ).




MINIMUM AVERAGE
STEEL CATEGORY/MATERIAL COATING THICKNESS (um)

FASTENERS :

- BOLT, PIN, NUT, LOCK NUT : ¢
-UPTOM 10 ) 43
-OVER M 10 ) 53

- WASHER, LOCKWASHER <476 43

476 - 6.35 53

- ANCHOR ROD . 80

CASTINGS 86

- SOCKET EYE, SOCKET CLEVIS, STRAIN CLAMP, etc., -

FORGED ARTICLES :

- BALL HOOK, Y CLEVIS BALL, BALL CLEVIS, BALL EYE, - 56

CLEVIS EYE, ANCHOR SHACKLES, etc.,
STRUCTURAL SHAPE :
- STEEL CHANNEL, STEEL ANGLE, CROSSARM STEEL, <16 45
BAYONET, GROUND ROD, etc., <32 65
32 - 64 85
> 6.4 100
STRIP
- BRACE, GUY THIMBLE, GUY GUARD, RACK, CLEVIS, <16 45
STEEL BRACKET, PLATE STEEL, SPACER PLATE, efc., <32 65
< 4.8 75
48 -64 85
>64 100
PIPE : 532 75

NOTE : THICKNESS OF COATING OF SPECIMENS SHALL BE MEASURED WITH A MAGNEIC MEASURING INSTRUMENT

“ MICROTEST " OR“ FLECTROMAGNENC COATING THICKNESS GAUGE
Form No. 93-02.96

Page 10f 1


http:SIRll.C1llR.AL...S.HA
http:EOROBD...AR

Dimensions and Tolerances OL M 1D lMawiiiie wwa o~
M 16 machine bclts shall have dimensions and }cle:ances as specified

in the table below

I

(—
PR )

. Dimensions in mm
PEA Machine (Tolerances in mm)
Mat.No. Bolt 3
Tl Size s 1 b k e m
X 16 130 356 13.3 26 or 24 13
01110200 M 16x130 {,+ 0.95 + 5 + +2. +
oI [ [ |ag (Lol |0
,%”W”““ﬂ l 16 170 50 10.5 26 or 24 13
e - 0.70 -2 -0']'-0.9 - 0.8 -
A
s 16 200 50 | 10.5 | 26 or 24 13
' 01110202 {M 16x200 |,+ 0.95 + 3 + 6 +2.0 + 0
- « (_ 0.70) (_ 2.3) { M 0) (_0.9) { _ 0.8) { + 0.9)
16 250 75 10.5 26 or.24 13
01110203 |4 16x250 |+ 0.95 +5 + 8. ],+2.0 + 0
(. 0.70) (- 2‘3) « 0) (_0.9) «_ 0.8} { + 0.9)
16 300 15 10.5 26 or 2 13
01110204 |M 16x300 {,+ 0.95 + 5 + 8 +2.0 + 0
o ot lCe [cto | row
. 16 350 75 10.5 26 or 24 13
. 01110205 M 16x350 |, + 0.95 + 5 + 8 +2.0 + 0
o (Co.70) |2 2.89¢ — o) (¢ 0l € - 0.8 ¢ 0.9
P N 16 400 | 100 | 10.5 |26 or 24 13
. . |ol110206 5 . )
S MLSKA00 e By IS G I et s 0
16 450 100 10.5 26 or 24 13
01110207 |M 16x450 L+ 0.95 + 7 + 8 +2.0 + 0
(Co.70) |2 3.9 2 o) | o.e) | - 0.8) ] ¢ £0.9)
01110208 16 500 150 10.5 26 or 24/ 13
08 |M 16x500 |+ 0.95 + 7 + 8 +2.0 + 0
(C0.70" |2 3180 Z o) [{olg) |U 2 0.8 | ¢ £ 0.9)

Note : Thread length (b) is measured from the end of the bolt to
the last thread of nut entering.



aniaam AATINR, MR
IRNRY i 1
' DIMENSIONS  IN MM, MATERIAL , SURFACE
MAT.NO. A B c Y £f FINISHING, REMARKS
R mirirzm% 30x6 wnsgy
h- 8
0120000! | 760 7 , 18 18 NURNIAMNN NI IUASORS
, 07 | 285 FLAT IRON 30XEMILD STEEL
$E37 HOT GALY. W66 :
MATINY 40 X6 W MNW
01200002 | 1000 950 25 8 18 o dmennid
FLAT !RQ{N"&OGG' WD STEEL
8537 HOT GALY. e TOWRELAC
;_:*‘”z_'
SN
- &
- 4‘)
-
m?t-'.‘:_“w*-‘ sa” T RN A Sy ENEP P i - - - . N
: {G A R .y B e —
FGERMAN 1;' (JADVISORY . .- TEAM ;. PROVINCIAL %1{ ELECTRICITY 78 Ak
: | XA~ ST T O TN o e G R et s e | e

B - N “iean e v o
DRESVIV T YT AR
SN - S . K ‘k

- ] S . Y LY. 3.

| J
ol naui'w,'n'wnguﬁlm, Angun .nj;ﬁ&ﬁm(ﬁﬁm.

FOR P € A i
Mnidn , iassdAummman

| Drw by .@@ﬁ«f_---

c9ns 7] BRACE FLAT, FOR CROSS-ARM

(T 0 - - T" o1 CROSSARMS,BRACES, ANCHORS,GUYING MATERIALS
A STEEL. WIRE ,CLAMPS FOR STEEL WIRE .
b e e G e e -
Nt g K3l 09063  |SHEETNO. (OF |

Mol

LN
Pl

S E L e

RO T

o TR et vy

ram



mavsenauaed
ASSEMBLY NO.
MAT. NO. 00120004
- 00
l "80|° 1300- I 1300 T ,el
{' *% w— = ¥ 1? + ¥ ]
5
i 218 1
5 022
1022 HOLE ['uou:
woiz. 7, ol 5
T T ) go}
} 4 } ]
L s ' | —d 75
s 1250 L \3615 1250 w,
' 3000 X
raud suuudngUsInd
CROSSARM, STEEL CHANNEL _ - «
MAT. NO. 01200003
60 , 646950
TT 1700 TT1 10
!
i b ] .u_
T ? o218 I 50]
HOLE
L 1850 |
wnUssiumaude
BRACE. FLAT, FOF CROSSARM
NOTE:
1. ALL DIMENSIONS ARE IN mm.
2. STEEL CHANNEL ACCORDING TO TABLE 6 OF TIS 116
3. BRACE., FLAT ACCORDING TO TABLE 1 OF TIS 56
4. HOT-DIP GALVANIZED
* CHANGE TO TIS 1227 TABLE 4
o > o (-] t M
naviRINTsHNHILA RS 29N vL 1 ﬂ = 1@ TRV ULLY
HIEImINay E WW cl"Lﬂ«uN anunilasuuy
W A NCRGRE Bewaiaiudi 20 nw.3s
yaia f LA wneuuTud
ANy A ,
Wwuaun AIUFILLUUMANTUS U YUIR 150x75xONN. 87T 3.00 .| figvdu fiadiums
wgwunEnay LRAVMANUSENIURBUEIE TUIR 50x10x1.950 N, :
-, : TR -
BdwILNSEY ekl
SEMET CROSSARM, STEEL CHANNEL, 150x75x9 mm, 3.00 m LONG qumatzﬁ SA2-015/39005

AND BRACE, FLAT, FOR CROSSARM. 50x%10x%1,950 mm

}mw?i 1 wasduIu 1u.riui




4
3

e AMdTnouIeAN 3103
£ 2103 @witnen 02 ASSEMBLY NO.

kg

b"‘ A Ay *
N
00/)\ ’
PRV ACSENN

RELIMINARY -

NN DIMENSIONS MM, q{nmm i
c Tor [ of [ € | F |MaT SURFACE FINISHING, Remnxs

s
™2

v =
WV}EWW
MATNO. a B

! wanaIN 40XA0X5 W mﬂWj
i 30X6 WN. WRANOY. e pukinal
) MUNINT] 14 RRL—BR0
01200004 | 2120 |1000 | |

¢ 2120 11000 50 8 '8 100 | 50 | 5RACE TANGLE IRON 40X40X5MM:

f ! FOOT STEP ;FLAT IRON 30X 6 MM;
: MILD STEEL &F3F HOT GALV.
ACE=TONDEOMA AFTER FABRICA-

! : TION.

»

MANLINBO X 50 X6 k. m*w wm
! . ZOX 6 NN M nuwm!ﬂu
misni§a s Froaie .
50 i8 B 100 50 | BRACE  ANGLE RON S0X50X6MM.
i FOOT STEP. FLATIRON 30X6MM.
MILD STEEL $F=%7 HOT GALV.
ACGIOVBEQRIQ AFTER
FABRICATION  _,

[N 01200005 |2350 | 1000

GERMAN ADVISORY TEAM — PROVINGAL  ELECTRICTY  AUTHORITY

WMo, 966 mndw:ﬂun@mwummwu

FOR F_E A o nawiny , Rumewdry, fueun mﬂaumﬁrﬁm ,
AIPHARN

[ m~” L BRACE,ALLEY ARM
Ol CROSS - ARMS , BRACES , ANCHORS, GUYING MATERIAL,

I SO -y STEEL WIRE
L - K3 09064  |SHEETNG. 1OF |

b




50 = b~ e - e} 50 -] 28 :
~100 - - 4100 b - -50-- ‘
ey %0
L |
~ s
%
2 -—pg SECTION A-A
b2~ d3~
T
Di [ ] di Os
1
HOLE DIMENSIONS
- L't
| , an Ne.
Wamaf DIMENSIONS N mm ke rrisauin
MAT. NO. os e MATERIAL, SURFACE FINIGHING
A ]
{(d3) (A1 xd2)
'] +
01260008 1500 440 8 x| MAnmneie  fensdnfensoxsoxe
) ui. mu wen. us erwdindimemngps neln,
01200007 1,800 450 I8 18y 30 | ANGLE STEEL, EQUAL ANGLES S0X890
—_ X6 mm ACC. TIS. #6 HOT DIP SALY.
ACC. TO PEA. STANDARD

od) 3
v 0

™
/

o co—

- - [, .o —— ' ‘ny ¥
e - 201').,22 :

- { :

P I } . NN, . “y
WMANAINTUNAUAI 1101 BOX 50X 6 KA. : ]
N LR, 8,120k

. L. - . o - - Mi
P SBI- OIS/ 22014 1

BRACE, ANGLE STEEL 50XS0X6 mm . .
PRETERPEE BT LRV A




PRELIMINARY

—
—t - —— da —— - - 0
} s xfped 1
wancoalm———
- 8
—— |- L
v ~ i 4 -~
4 LI EET | MOANTATIANN
1T NUT,HE XAGON LOCK NUT,
OIN. 558 HEXAGON
‘——4 DIN. 936
\ -
I B N P
wﬂ T‘ o S 2 - l
’ HUIRNANNUN T
—_— WASHER , — 30 mm.
“ ROUND , FLAT L
d i
— o |
- 1V 7 v gy
';‘Mm‘ﬁ wn NN [T I S 'ﬁq RUN
! DIME NSIONS IN mm (nn) InnA
. BREAKING WEIGHT MATERIAL,
MAT.NO | D | L | B[ K| E/|F [da| T | Ty [STRENGTH
i LT ION BLE v Aoo!h’amce FINISHING
- i v
v 01110400 16|75 {75 | 10| 24 | 27.7'192] 13| 8 | 8,000 MARIN
omek0% | ¢l esgi1s0| 10] 24 | 277) 192] 13| 8 | 8,000 .
1
f vk me
f |
| Ny noe]
+ STEEL
| !
i s
- F—t
! P , HOT OIF GAL-
‘ ] ‘ -VANIZED ACC. TO
P PEA. STANDARD.
Cr

winawf SA2-0159019

At s adninder Wannindoy 19116

A 1 am.2539 husnf 1 mnou 1 wend
BOLT. MACHINE, HEXAGON M. 16




Ry

§ ){ .

— )
. Sy S— e { P | 2 —gy -
: i = i
r ; ;
— - da- - : - ) L
\ N I 1[0 W 1 Y
RN AE——
I
% A r-"‘"—-"-“'"“B poDE——
—l K i_ —— L s
(2 -~ < |J i
HOMNMALN ( - ABRWMHNMAUL (7
NUT,HE XAGON. LOCK NUT, F
DIN. 555 HEXAGON
DIN. 936 I &
WU THNANRUR r
WASHER , — — 30 mm.
ROUND , FLAT L
i
- ; TT 7 v =
’fﬁ’ﬂvan T NN sestlssau| Wivun 1?{0‘1 BIUNT
-y
B DIMENSIONS IN mm. (nn.) ﬂn./'oojii
[ . BREAKING WEIGHT MATERIAL,
MAT.NO | D | L | B K | E | F Jda,| T | T, |STRENGTHIkg /i60Pes|SURFACE FINISHING
max. {kgt)
d ¥
MENNNT
-~
suendi mn
i NIATEIHADS nin
} 1 STEEL
‘ z
olll040 | 16 550|160 (0 | 24 (27.7[19.2| 13 | 8 | 8000 HOT DIP GAL-
-VANIZED ACC.TO
ono4a02 | 16 1600|150 [ 10 j24 (277 192|113 | 8 | 8,000 PEA. STANDARD.
W)
-
na\nF{f‘ n-n-H cl’dmu»uu... terenn o rvan.

y
RalPanul. . .........

\ s ""{*-h‘ ‘.'ﬁ':'f'&""'

e -~ v o~y . 4
AANINAYT UINNIUALL  1a4 16

" BOLT,MACHINE, HEXAGON M.16

S i 5 _ox na ¢,
WALLL N, 24 a0, 28,

tmaw ey wend

LR S T

e
WUL MY SOI-0I5/18035

tsesmrsmren - o

WECR | qaefiau ! _w




Yo

#

11-!’ - (‘

g

e v 7R
v indu wmn, 1&3, 21U,
’ DIMENSION M MM. NAI0G fu neMn

MAT, NO. D L B

WEIGHT | MATERIAL, SURFACE
KL E | F | T lkg/0Opes| FINISHING, REMARKS

SRR DUV S5 VU U R

OMoO000| M8 25 |22 |55 13 184 | 6.5

L g3

ONIO1 00 MIZ | 35 30 8 19 269 | 9.5

46

p

OHIOION | M2 | 850 | 40 8 19 1269 9.5 T

d w “w
WRNNR T N 4-6
- -~
muw-m:rm*mu‘m?‘:"lu
nun.

i STEEL, PROPERTY CLASH

HOT DIP GALV. ACC.

*

won T

TO M. 7

PEA. STANDARD.

@Aﬂ“ﬂlt'ﬂ“\tﬂ“

mﬂﬂ'wﬁ;ﬁma

cﬁms_ O!V'.g(!'!.{:

mNe. -
\ﬁr}g{b}.’wm —_
Famduoun o

AvninRen ‘ J
o2 dnurien, m'a'uﬂamijww?:;fm

%\'ﬂl

gﬂungmwu.m R
w3/
e

Nﬁaﬂ’w U
I

Y
weywww

WIUMIINEE Y ‘« ".z!.
. mgmwi&w X
» AR
ST

e XTI e B e

BOLY, MACHINE

02 BOLT, HARDWARE, STRAIN & SUSPENSION

uwm?tllﬁ}—m;}. 013/ 140367

‘mﬁ_L witny _!__)v;vg




- dia k- , .

_l_ )
" - o
E—— a3,
K Lo J
un
NUT
[ naww W ™ nunnrtoot| iaatuia, mnume
' OIMENSIONS IN MM WEIGHT ERIAL , SURFACE
MAT. NO, o L 8 K T E F kg /100 Pes.| FINISHING, REMARKS,
ono200 | M6 30 | 38 | 105 | 28 | 32 |~ 244
omozoi |ms | 170 | so | 05 | 2a | 32 |~324 &
g .
&
omozoz | me | 200 | so | 05 | 2a | 32 |[~a02 ® 4
. ] o
onic2os |me | 25 | 75 | 05 | 24 | 32 |™ag . 3 ®
T S [ TR SR B <+ ™ ta
i .
<& e = . 3
ounic204 | M6 300 | 75 05 |24 | 32 |~ izrzas
« 3 - x O + v
SR U SO e R ES .
Y g?}é . -5
omo205 | M6 | 30 | 75 | 105 | 24 | 32 |w~e38 R E G
N S U CEELRR
oNn0206 | M6 400 | 00 | 105 | 2a | 32 |~7s
‘onioz207 | M 450 | 100 | 05 | 2a | 32 |a796
ono208 | M6 500 | 150 | 05 | 24 | 32 |87
M x) t s) ) -+
MH‘HHW?‘ mmﬁimzﬁhsduwuw NOTE | IF NOT OTHERWISE INDICATED
~Jam_inam‘?1l:znmuw~mm THE MACHINE BOLT IS FITTED
Fimanusniim WITH ONE SOUARE NUT
GFRMAN ADVISORY TEAM - PROVINCIAL ELECTRICITY AUTHORITY
7 v
LARTS B 1P , ’Ju’;l o -~
scace A patg 2279 /66 ﬂ}ﬂﬂiﬂml? }
16 AN TTFOR B Foa T J - b
rov oAy FOR P E A 02 ARMINANT: IRIMTARCATINT Abe
ny? by ) f‘u‘/m.

‘(l'k PTG maul(f:,_A

X

BT T
. \ 3 ')-f"\
00T
\ P

BOLT, MACHINE .
02 BOLTS, HARDWARE STRAIN B SUSPENSION

K3l 09072

SHEET NO. } OF




A g
—
44 R
E—
T
Y
S—
T
! Ea Y-y ﬂ L g [
> = N Wu o, WD v -
QM}‘MW DIMENSIONS  IN mm. nn. /100 %4 w’«}nnmmum
?‘h'ﬂq -
; WEIGHT
Ny R a 8 | « E T MATERIAL & SURFACE
= MATERIAL NUMBER | D kg, / 10OFCs. M
' meMM ey
~ 0110 30! M.20]| 400|100 | 13 | 30 | 18 rw owen. |7t
B mmﬁn:’:mumnﬂﬁu mjm
| 01110302 M.20| 450/ w00 | 13 | 30 | 16 ,
STEEL, PROPERTY CLASS
4.6 ACC. TO TIS.
oI 0303 M2oissoj1s0 | 13 | 30| 16 18. 171
. HOT DIP GALV. ACC. TO
PEA. STANDARD.
. l . r};\whuuu_“‘_‘_..“‘-
o Dereinuiu
o 5o T i >, 1 Jruetelud 1 fwz2
i ‘
! 4 ) — ] SR W '
s oo s AW,
. V]Hﬂ(ﬁ > ng-— ?‘&' [T §!3n?
o). ARNARLURN DN, 20 un, ST L
_;Yg%{’““ e
3wz 205 SB1-OMRIONT
i e BOLT, MACHINE M. 20 mm , s
NQ\* " _mm Tty et



-3
0 | Y W R
s '3 S—
| 1.’( 'V a?‘ V < u” J b
| nwen - N0 wwin
! DIMENSIONS 1 MM. nANoo ﬂ(q'mum, HAKHA
WEIGHT MATERIAL,SURFACE FINISHING,
MAT. RO, D A kg/100 PIECES REMARKS
N 'A’
mnnnmwn}mﬂuuﬂ 4.6
onz20000 Mie 400 ~ 69 .2 v won 171

STEEL , PROPERTY CLASS 4-6
[ g

01120001 Mis 450 ~ 77.0 ACC. TO TIS.
HOT DIP GALV. ACC. TO

PEA. STANDARD.

on20002 M 16 500 ~ 850
SRS U R U Y o . J—
oN20004{ M6 600 ~
- , R S —
y *1 { /Z( oA
!(mﬂi!ﬂ’} ?97” AR URI YN ‘!y- NOTE. F NOT OTHERWISE INDICATED THE
mﬁ}m’myk:noumu_ DOUBLE ARMING BOLT IS FITTED
whiREN 4 P2 WITH FOUR SQUARE NUTS.

GERMAN ADVISORY TEAM -~ PROVINCAL ELECTRICITY AUTHORITY
e T
A 2z/06 | ARmnRtINAGN
Bl ey [N ST S
e 02 ANIORYT, IRTANIRrRIUTULATIIN -

| bl 5. (- | BOLT, DOUBLE ARMING
- --,;JJW
),&; o 02 BOLTS, HARDWARE, STRAIN 8 SUSPENSION.

- K 3i 09069 |swevwoioF!

RIINEIRBES A 57 S ST WAL P M N s SR A o AL AR
; S L jaRr




[P S S - PO A ’\‘/—-_.__..-—-- -———-—-—-—c—
— e e - B — ;o
i e {3 i
R el als '
Y i Gt S s S il TN 1 -
LA U N1 [ O . \ W 1
3: N W W N
i
STy
t"'
] .
__..,’13!-—— 39 |~
S _ s
AR T §n . treae mﬁg‘ i A\ !
e " 'mnn #n. 100 f wum :
! DIMENSION IN MM, :
MAT NO. EREAKING| WEIGHT | MATERWL, SURRCE
e D, | A | B | E | D, |STRENGTHKgAOORs. FINISHING '
‘ {xof) - .
! , d v
ONI30000 ' M16 | 400 350 | 22 | 12 | 5000 | =8 | WM
| L f L
| . H #
| § ! el aneusmtim e win
OU30001  MI6 | 450 . 400 | 22 | 12 | 5000 | =107 | STEEL '
H t
—t -
01130002 M6 | 500 450 | 22 . 12 | S000 | =i45 | HOT DIP GALV. ACC.TO PEA. |
5 ‘ N ‘ ; STANDARD .
% ! } :
0130003 MI6 600 550 22 12 5000 =
. o T N S S _.41
i ; |
: ON30004 M6 550 500 : 22 12 . 5000 ‘g
01130005 M6 650 600 22 12 5000
1 i | R
AN J N ~ NOTE .
r?mmmﬂmdummu IF NOT OTHERWISE INDICATED THE
ﬁnnmmnmmnmh nau DOUBLE ARMING BOLT, ROUND EYE,
unXivhau 3 M IS FITTED WITH THREE SQUARE NUTS
—
! <
navidInTIN MTIWA AunRniA Wunuuwy x ¥-09070 |
Pty y
— — > qnum"fnmwu ............
K NIY S~ ' ﬁuM’a“m 20?‘1”
1. . L XX W . pahoa catnal ) |
: m.} . j X “n“WW“ . ——d
T - e ek
v 4 ANNINAET  UINNAN -.......!J“..‘.......a,
I, s > s :
dinmmines L2
: OLT, WUAWLSO-
|'mm ﬁﬁaﬂ BOLT, DOUBLE ARMING,
: - ROUND EYE. -




{ A IS — [ ; .
FORGED ROUND EYE .
g 4 i ,
l - ‘
S i N s -
‘ - —— “X{"
i
s T
D,
13 |—
v P e K Li .d f‘ Y J
o 41 LN witUTraY | WIvK ' ~
i 5 l AUk
'7?‘(9;] Al DIMENSION IN mm. nn. NMN/ooti4% rmﬂ
x BREAKING
| WEIGHT MATERIAL ,SURFACE
STRENGTH |-
MAT. No. | D, | A B | E D, (kgf ) [|sg/io0 Pes. FINISHING
d +'
01140000 | Mi6 | 100 | 75 | 22 | 12 | 5,000 ~7 mannan

o -~
muam:dmummg{w
U4 rwl 1.

01140004 Mig - 200 | 150 | 22 12

5,000 ~34 STEEL

01140002 M6 | 250 200 | 22 12

HOT DIP GALV. ACC.TO

5000 |>425
PEA. STANDARD
{

0114 0003 Mi6 | 300 | 250 | 22 12

»~
3

5,000 x5 !

i

AL LR S22 -k 01140003
g”mmammm_.(}’{_@( A

BRI frunn ey i waensiu NOTE . IF NOT OTHERWISE INDICATED
d&minfyantanaudinoufiay THE BOLT, ROUND EYE,IS
wntwien 2 A4 FITTED WITH TWO SQUARE NUTS .
N ] . ~ v ~ cty
NO4A3YLATVRAEY N7 y\j TMANDIA WL
3 -~
2 ARTLIRG LY
v - 1 4 9] L———— Ve ' 1T
&Wﬂu...ﬁ/ﬁi’.‘:‘fj_"%ﬁ.’.%:‘;... N’i”] mI 3} . \\T"f{' - W?J!uﬁ?: fxﬁl?_{_@/_*_?
fnns N b ALl b et Y ooeN
i &{:3 . v whattiud
diny {pve iegr T - + -~ o
g Y LESEST ona0000 - - TR T T
&%‘m&f‘ueau & AaMNALT wWINAY SR

N"N"«z)\. e

crme wus

LA : =
nnsY uA | ou40000 - BoLT
) 01140003 '

WUy MR 5017015 /19041
ROUND EYE ... ....... .
WIS | garfreu | _ueu

=



8
: S =
t ., ?
/
FORGED OVAL EYE -
N
4
|
o 1 e
o A ne N Y HrBalany wmn o I~
STEARYIN ‘ : qu»mmﬂmum
; OIMENSIONS IN  mm. BR”H» G"’V‘“ e waTERAL B
EANG weigHT TERIAL
F )
MATERIAL NUMBER| O 1 A 8 € 2 STRE;FT HcgA00Pes| suRFacE  FINISHING
g 4
i%ﬂﬁﬁﬂﬁﬂfﬂ%
01150000 MI6 | 150 | 100 | 50 | 38 | 14 | >6500 mua(mm’mummanm
MILD STEEL
HOT DIP GALV. ACC
TO PEA. STANDARD.
01150001 Mi6| 200 | 150 ] 50 | 38 14 | >6500
01150002 Mig| 350 | 150 | 50 | 38 14 | 28500
PRELIMINARY
"é/n?".*, L R o
ﬂ”"? t 3 ..
, N th P -i ﬂ A QP
T ;:;Qm ‘t;‘l’lr('w‘»" o rrw e — e
tanag e
. o s R I ;.29_“‘!ﬂ 2543
o . o & R
RN ARTAoWIR 18N s O AR
;::u_;',r\;_\,;. oy, 4 OISR L.
EATATUNYE . ’ -
‘ ST < wtuanv §81-018/22018
THINTIN VL A TG e : _
- BOLT, OvaL _EYE , 16 ; ‘,M‘:Al“’;m&m“”{“ﬁm




i6
C O CLIMIINARY
t ¢h-.n-‘--— m
1:% 4: mﬁ;:‘ OF T VR »me; :;J'tmu mwun‘ﬁ‘ A s ANIBALRA
DIMENSIONS IN  mm. © |nnpo0
BREAKING WEIGHT MATERIAL a
STRENGTH
MATERIAL NUMBER AR L E R D o /00Rs] SURFACE  FINISHING
a s
wmﬁnNﬁmNH
01180100 M 20| 350 | 150 | 50 | 38 | 16 |2>12,000 BRIy roin
STEEL
HOT DIP GALV. ACC
0150101 M20! 450 | 200 | 50 | 38 16 | 212,000 TO PEA. STANDARD.
I : - ) 7
AR SR : Y .
'Y Grw
no Biuuwmnatioy T , N/ ; Wby -
Weddn WINIUNHNA nnsm;{muuuu ___________
oi‘“' o Ay My R @m—udnmn .............
NN )
LA IR Y% o IS SRRl I -
’%whm.-_Y»’Hﬁ, L4 2 R T o ""‘} """"""""
AP, l’( RN SR Y V.
AT S P ARNUIDOWIA, 1IN 20 )
u“wmrm.--. “..--......4 WK __ i n e
WO TN - s ]
e o= LLRURSEI- 015/22019 |
TRNIMNVIRTUNAUA
v ‘ BOLT, OVAL EYE , M2o il | epnau | un




L

J .~ 4 1 § ( 4 J
B W Y. usthiea | W a
dnia m% ANLNA
! '3 w DIMENSION IN mm. fnn. N/ oe ’“{Q
BREAKING MATERIAL , SURFACE
MAT TRENGTH | WEBHT v
NO. 1D, | A | B | E | D, ST pores|  rimisne
é [3
- Mi6 | 150 | 100 | 22 12 5.000 o~ 2557 imennan
¥ -
‘ OVURINEE MNEWISIN
5 %6 AW,
: |
% STEEL
: ! HOT DIP GALV. ACC. TO
f | PEA. STANDARD
: 1
’ :
| |
|
i
i i

nutomy - Snluszyidussdu
manindemrnoutiznoude

infindou 2 A2

NOTE : [F NOT OTHERWISE INDICATED
THE BOLT, ROUND EYE, IS
FITTED WITH TWO SQUARE NUTS.

PRELIMINARY

aanNINaYI HINNY

BOLT, ROUND EYE

-






t
| DU IS ;
PRELIMINARY
. "
e
\\“.,"
! %,
™ S
“ apon Ry -
of J4-]
A4
B E_].:J RN
s— FY}
N ' -~
o AINIATYINAK
3 - ACC.TODIN %2
:‘:w"' & ~ -~ - [
AR un a “’“"‘““ﬂf‘oo MR IURT wumn
MI;T NO CIMENSIONS IN_mm. HT IN MAT. SL’}RF FINISHING, REM.:%RKS
S dldidyldil el hlkim |ooPcs !
MANNWINTY T AA=Ew2e?
01180001 |Mi6|35|63135|13 2301416 ~238 %’gﬁréﬁaﬁw
. HOT GALV.
i !
; i
i- B
: l
i i
B
J
|
|
. 1 v,
naidINIIN AT AN RAA FunuuvuKai:09068 |
: y nmmﬂnmwu S
-~ 4 . .
qiluu. T Lok | &:'ﬂm‘!(hylgwp ______________ wtjuw{ﬂ’mn 2Lr.1!t.2.5!§i
N?ﬁﬂ‘l RO i - l.LﬂNUU?\WL_.. ]
Mvm SN2 Heerfpon .www , fm 582 S T
'WIMU'\XXH‘AH.... S XA o X
e L 03 wz AN, Ny, mv_ m.maam WWIR W |
HE71UTLNINDY,
ﬁ%mm P NUT EYE,........DN 582 | Wuuinviso:05/1600a |
D 03 SCREWS,NUT, WASHERS,NAILS STAPLES | (o & L yasi A WY
» - PR L




w Y
-~ w!" 1
- - . ‘__“
R A ¢ o~
P S e . - N
- «\.i‘ LN ‘_‘i% 1 . LY ‘ ;
IR e %
, . Yi:;:‘."‘
o [T 3
f 1
l‘F ‘! Ls-!
I c PRE———
-
- -
' | ‘
o l— &
T =" ) I3 ) 2 », -~
Wirmq: Rn e NN, wiieiry ATy ARAWNENTIB WM
‘ DIMENSIONS. IN  mm. nn. ARAINALY
MATERIAL ~ BREAKING FOR MATERIAL &
NUMBER | a 8 | ¢ 0 £ |FxG|STRENGTH SURFACE  FINISHING
. . kq BOLT
e;wnmﬁm-?nm 5
132 | 7s '57' 1Q | 13 |21x29 " e et
‘ ongooo2. sl . .| 28320 | Ma20(d)| SummAmMnRIIY :
. ST oclugy 3y e [Ch o) [Ead Aaunadns SN
Ran® . - NEMA STANDARD NO. ?H 5
y b o ' HOT DIP GALV. ACCYO
N .'1. - . -
NPT ‘
- e e e e e . Y-
ne{Huwmnndou oI ;,vﬂ’ AN T T
dxﬁdqmw NIRRT QNﬂ’m grumslneiuy
Wk _ ST -y
% ...:...-. 1 oo s%::uth«w RN 2-...
%mt-.}l{kiﬁ &) 0 - 7 " ‘:’:“g"”"‘m weememamoe o
mﬂi::’“”“ﬂ.i.‘.. e d 0180002 @"‘]Uiaﬂ N ":-,.-NN.._-......
vawined. {20 T Y meas
wémaumang. . ] ~
! s ’ ‘ WHS’W““Q,} t‘?{ZM\i
1a4§awm'zr1';umnm ollgoooz  EYELET '
S b W8 eun | v




Fa

‘\ /’!’\)

e

i3

O

S - S —

c o
hoeme £ et A v*k
‘e
t -~ a [ A £ ~
Wt;cr:m& e f:}u BT ;mmm:a‘;u mmgnnn ﬂ”m‘(uﬂ‘m RPNV
ne. ab T3R] uanmmm MATERIAL B8
MATERIAL DIMENSIONS N mm cremans | . SUReACE
T FOR FOR STEEL
NUMBER A B c o E E STRENGTH BOLY STRANDED FINISHING
kg WIRE __mm,
] - 4 «
; wmndtml
1 * o
OHBO003 | 38.| 38 | 22 | 35 | 47 | 82 | »6500 M 16 25— 50 | OumNmINY
vIrTy rin,
FORGED STEEY
STEEL
01180004 kY] 38 22 35 47 g2 x 8,200 M 20 50 - 95 HOT DIP GALV.
: ‘| ACC. TO PEA.
STRANDARD.
J . T v
na uwdnagsy :;1 r ‘T ﬂ/ ~ Womwwn.
W“"m?‘,g'{ ATy ﬂq ¢ i \% /7 ? T/J Q }\J ﬂqm ﬂﬁ“ﬂﬁﬁﬂ““b o N
- —— i
t%ﬂé .z i ;,’ g si}w&d%'fv?* ]
31 .
LAt 0() J j S e e el il BT A
%hm Yf“"”‘“ ~ 1Y% ‘:’:“:'m'“ e
ﬂduu‘mww ffz:\, N N‘Uﬁ01 wa ‘m"*". R 'L Y S ———
nqnu‘m‘oa____ e e mcm&m _____________ 1
gmmum-xnlw--. R
v '3 - uumsmv- SB1-0i5/22029 |
. ~ ! ' .mnn“ |y ] unu



http:onlln;("(;II'.It

FoacLIMINARY

T

- un i fwunnioo W AnA, BN, wNLNA
' DIMENSIONS IN MM, WEIGHT IN MATERIAL , SURFACE -
MAT.NO. A B c 0 R’ kg./ 100 Pcs. FINISHING , REMARKS
. ! 4
01180200 | 50 ' 50 - 5 18, 125 |~8.82 mgnﬂg&uﬁ ALV
! j - i Jy oy
H ¢
owosor | 50w s | 22| es|~rmes | iimowied
|
! ! ]
f !
L
! , i,
i L
GERMAN ADVISORY TEAM - PROVINCAL ELECTRICITY AUTHORITY
My . - e - )
SCALE ‘ parg 237 9788 rb%ﬁguﬁmﬂﬂﬁﬂﬁ ;
T FOR R E 4 03ART, M iwau, i | mufmn
I e O By Aerap - —
‘05 N WASHER, CURVED,SQUARE.
Ho TS 0 SCREWS, NUTS, WASHERS, NAILS, STAPLES.
L e e A e ...J}?.\WQ‘_--.._
\ TOFI
\‘E‘{( K 3i 09073 SHEET NO. | OF




01-015/16025

S S ]




. Dp
asgazifon 4 " |
i o
SEE DETAIL 8 -t o re | 1=,
. 30 d
-y — i o | T
2¢ | ) i ] '
D:‘lé: T 50 Ot i h
. Dy# Hr \ ) A
' e srwaznfon 0
+ :,, DETAIL B
' t
|
3
ol LR ewtR¥e::
I A
[} ;
! d
+a *
it og
390 ; aswanion 0
2280 ; SEE DETAIL A S
T | timiuguadan) Bu e
210 I
+ B
i ¥
300 : E
I -
‘% J'mr D" -
! .
00 | !
Y
i
D,# 100 M_—- Dys .
- - sgazilion
| %0 DETAIL A.
FET ] fil
I N R PRY AL R S ” *;\/"\RY
| B N P T |
P [
i’ﬁmwﬁ L L Yin Sasaufia
' DIMENSIONS IN mm. { .
MAT. No.| D¢ | D¢ { D,é | Do | D ¢ MATERIAL , SURFACE FINISHING
- (da) (dﬁdz}
: mamiwiumuﬂ TUIM 100X 50X 5 U,
01000100 | 18 |i8x30] 10 | 14 | 22 i Lan. 16 M5 6
ewdned muumIgN A,
CHANNEL STEEL SIZE I09X5O0XS5 mm.
ACC. TO TIS. 116 TABLE 6
HOT DIP GALV.AS PEA'S STANDARD
' W4 uan. 1227 swf 4 UMW (CHANGE TO TIS 1227 TABLE 4)
RaivEuas ‘ s Wi
hByIRguaznAABY astuwIg v n e ---
aheiAangsy o e anmdflauy
- * - 28 041253 .
o (| fiama \*"/ﬁ‘r& "ﬁmm%ﬁuﬂ'if‘is‘i“z
MmAL | Sty SRl Avl [T, TN 0 '5‘:\:1 «;—22;5
Saana_ - Ty adu 6
amduaun Dw= L e wnlingdsiasin R
ddhuaEmsnes u7A 100X50%5 Un. 817 2,250 wu. | TR o oo
qﬁwwmewm
Kﬁzﬂﬂﬁn\ 01000100 STEEL CHANNEL wuuLanfl SBI-015/ 31004
,,,& i .
; I00x50x5 mm. 2,250 LONG ““‘4“-'-1’9““"“‘?“-'"“’“,

A

%&1531

~%
-


http:1'I~ffi~1'IJ'i'.II.Ji
http:SURRl.CE

-

~
AN

ﬁ’f‘!d‘ﬂm
ASSEMBLY NO.

‘9 3z
b AN

3 T3INNVRD D

L M700010 ON1VW

ov.....ﬂ.
. .
f—

t

Cnes ]

i

- —-—— o - -

008

:
3

R
Ju"‘mmu,_,

oo

UNDIWNLLY

g V130 33
unanenLLb .

008"t

008l

ok

00§t ———=jo0z-| ¢

00%000 10 "ON1vw

J 1aNNYHD D

1

N
L OINML\F

el A R I R R i ™,

W wm— . W . m— — —— — — — A— — —

¥ TIVL LT SIL OL AONVED . |

GIZINVATIVY JIC — LOHW'E
*m ERCL7SEHEEN
OL ONIGHOIOV 1331S I13NNYHD 2

wuw N 3MY SNOISN3WIO v
.310N

wamg

7
(J.(.Pg 33/

— o me w s

r~fﬂl'~a’”“uu

E e ——

. M‘/‘ - wi‘“(;‘/‘r'/

4
-
r

9.

M_N23
~
.

LR L300,

. - 21

£
9‘“"

CTRTA

4
--‘;-ks.lh'?.
Yo b8

» &
NN
L

D ——
-
b ogme
'
S

———————

- - —

!
’
1

v
"
Nl WM 200X BO X 7.5 8N 411 1,000 N&.

“

ArmwAmI

WM 200X BOX 7.5 &N 4176,000 NH.

4.

/

e A
sk
fl«.’"x’ .

o
4
' RCEER L

b auuinenSA2

QR0 .

-
»

WA | 98 IIN_L R

\
]

CHANMNEL STEEL BEAM

)
2%
b
£

£E
o Q
o Q
O O
-
E g
EE
0 9
P P
=
o O
w ©
X
mo
Y
Wow
& B
o .o



http:fI11tM"'.fI

: AR ER R W
. q i
| | P& 3
.« x EEERE <
' ua R ¥
: : . - [
g o ] o—o1—| O
N 14, == 1 L
3, S A o ]
£ 2010 TOTOON “Lvw H ° o
= !
2
(ol |
= = v oo obi'2 .
oit ..“ O_S-N [Y -t o
.
= > z -— -~ P
= : 3
as—" g V3 33 - S - S
———— ——— - — o BMRIRMLALY A 3 = K E £
-1 [ uuw ] d * NM. ) H
4 L e o e e e e e E o~ dow
llllllllllll -TT=" o PE > x| W xx
" + i i [ 4]
v,Y 2 *4 IVL30 ' m ,Xm ﬂ vl w H“
+ B T X X} o
e o e, |© 0 E3E R
> 0s 2 A1EVL L221 SIL OL AONVHD o - © 2
o ¢ | | ¢ s -
« L 3 QIZINVATVO oKl — LOH '€ ¢S g
,r <9 R N v v oy
" B ¢ 37dvl 9l Sil _ A i
. MN ? o1 onigd§d0v 13315 IIONV'Z ‘ €+ o=
V =] L ww NI 34V SNOISNIWIG TV I :
¥ y —.i. J N (
4 - f 310N - o
. 9 Joen
» " 2 .
-~ 69—+ ) fﬂ..
| . z ;
T_..A.& «w,a -8 )\..u\vmf Ku .,
L L TISI:TIIOS + 05§ ——=f+--0g1—+ M ™ m M \
T "ON “LVW DU e Y
h 000010 T0 ﬂnuu = Wo .M
—”“ v “. e L -
P undnUALLY R R
R=




Mede:nouiee
ASSEMBLY NO.

]
F—— : ED—— O
T d
~Aef— B c E E c B—=A~
L

SLOT (S)

DIMENSIONS IN mm.
MATERIAL MATERIAL. &

NUMBER s SURFACE FINISHING
STEELSIZE} L A B C E Dg | Dys (d;xdp) 3

FLAT STEEL BARS
LOIOBOIOZ I2X100 1760 ] 40 1105 | 50 | 185 | 24 18 IBX68 | TiS. 55 HOT DIP
GALV.

LPRSLEL%@!NARY“

LAy

mc?:dquym‘fmmnﬁmna 0 ﬁ’l d ﬂ‘] @3 Wi i:l o '%mm»w .................
"J‘W“d““”“ . nnwﬁnww.-..i ........ _
ouwu RN Wer v 3004 28
M'gmq A qu'qm'a ___________________________________________ "Swe'ng ~ 208128
qnqz‘ﬁwn T35l S o uno?uw?\__&__:,.,-._--_
a,swmmwﬁ?u My tf While --!@@!Nﬂ?-_.----
ummunmnm«t{,‘g‘tﬁ vondew 15 ]
qmmumw)w ___________ PLATE, STEEL, DOUBLE ARMING I2X100_._.
%wmmwww% “”‘“‘“" saz—-o;s/zaooz;«
_________________________ nawdl 1 wmmu + uuu




wuAN1 4 X 30

COTTER PIN 4X 30

l wandiatatuday

105

Uiratmslanudae

=

CLEVIS ,THIMBLE .

‘ PREFORMED DEAD - END.
{

oy e m s pan v m—

.............

...........

L ey ! ‘ \‘..‘ 1 "n‘, a 4 '
neRvguazAdoY - iR gRA L e
“w A o LS R TTEL TS 11 VI
¥y A 3 o T
v { ' ~A’fv‘ ’ "y v
VU el mhanennd ST \" ___‘___?ff..},.f.gu.m-g-f-}'_--- etz nlze. ..

~ ) ¢ W |
os1400n MUMAAT Ewtulivesadanydny

M A,

o e lemy e

-

03140011
DEAD-END

CLEVIS, THIMBLE , FOR PREFORMED

EEN
higt ‘ﬂb

. N
l(nlﬂft,]‘t" .

Crae meerer v

R YT T

i g)u‘ 3 AN \JU
¥ ]
WuLsRed SO1- 015A5068

........... weveew

-y .
WL L gt 2w

»-"-'—5———



A

f:"d{sgwn?fi

MATERIAL NUMBER

0314001

9 Tlaeand awdulidetnientanudny

DESCRIPTION: CLEVIS, THIMBLE, FOR PREFORMED DEAD-END

AN ARTARTI NN | WATASY ALY
MATERIAL BODY , PART 1 MILD STEEL
Wgnidindan dawi 2 WANTAN AT HY
MATERIAL BOLT , PART 2 MILD STEEL

MATERIAL

{égmﬁ'zngmm 4940 3
COTTER PIN

PART 3

5 - (.3 v
VELMABU DIANNRN e
BRASS OR STAINLESS STEEL

NTIRTUNA RIRTILAED

7RI IANMAINETIN AN
HOT DIP.GALV.ACC.TO-PEA~STANDARD

SIURFACE FINISHING OF THE FERROUS PARTS

oo

'ﬂ’)Merg\,

fownn (Utsnnm ) nn /an o5
WEIGHT ( APPROX.) Kg/pcs
ne@iunasmadoy ﬂf*’lm«'h funnma -
¥ 3 S - sy ~ ""'w"‘!.wu .
ﬁ.‘“ﬂ“-@-"‘ﬁ‘z-fﬁ&wmﬂ \,q AT n o e e B iR xsznz/ 19
. R et kAt B
) 0! u‘ t, }i"
mJ'ﬂ \1'{}’”“{!}‘4!%§NVI - ? 7 s/ -\ & e °
,,,,W,M,, " Tlosiacon MeilaadamiuBidetmalanadiy | 8
. Tt Y N

mwnm{mmaun

L e T

0314001 CLEVIS,THIMBLE , FOR PREFORMED

DEAD-END

WP S0),7105/19058

oy . [
p HNUP 2 $3udy 2 ey




180. HOLE /“ 2490HOLE 18D HOLE
i N
\ 16 500 kg )

™~
36

100

8,250 Kg. 8,250 kg.

~ 24 l 100 e - 100 —— = —————24

DIMENSIONS IN mm.

NS IREA
' 03140013
MATERIAL NUMBER
A (PO nn.
. = 16,500
ULTIMATE STRENGTH kg.
M 3 ’fﬂ{ﬁ : Hﬂgﬁﬁfg’:lﬂﬂl%
s’ i
~ MATERIAL :  MILD STEEL
AEBIYET mumnmmwmm‘mw AN,
SURFACE  FINISHING . HOT DIP_GALV. ACC. TO PEA. STANDARD.
no I TcwRRa s oL p::f‘ T P, -
wre Nt ’M’mmun R AN
:2'5““’- /“’M v P viunea vy, 25 oL 22
”éq A, %‘}‘3“ 1 —— e e ‘ R
Tamr T ;N,Q (,Q B e ST ET A -
Frwsi oo (W Sy P& S STV
“mmm’- ™~ AM 03140013 HINWIARTTHUNAY . P
QQ“"‘U”' 1(3 R J—— - e
"'—"""-'" o sty SBIS015/22042 |
AAn Ty s R
“”d" I 03140013 SPACER, PLATE : o . .
SURTL AR SRR VU ui%i:J

+ —— e+ ©m e e [, - .




dZ
SLOT (S)
4 p: e @ 4 o
ANPRYN v W b AHAWALNTRNUNT
! DIMENSIONS 1IN mm, ¢
s 5 MATERIAL 8
MATERIAL NUMBER
L A c 3 )
A STEEL SIZE s (4 xd) SURFACE  FINISHING
4
mnmgwmun‘m urn. 55
’ )
o ! UTINN
01030002 . 6x100 | 450 | 35 | 50 |140 | 18 I8 x 68 Hwdannawnmenu adla,
FLAT STEEL BARS
ACC. TO TiS. 55
HOT [[24 ALV, .
0103 0003 6 x100 |500| 30 | 60 |60 | I8 | i8.x 78 oIF GALY. AcC
TO PEA. STANDARD.

)
neituuatnnioy
(Ahsz‘;r HYETN

Ml NN mMA

%}xm Helits

Qntmﬁmm. L

T

) SN A qvgn, MPRINRIIRE

L)
tﬁ‘wu- N

v 4
SN (g S .
w —— ,b_ﬂrn";ka..— N’()ub)«u’i“

&

vgﬂ"nw...,._.-.q.
Az, .73?"17‘2.0-5"?5.-“
WA M@ S
J ¥ ’

wonge s 0,

6 X 100 ...

Jeudrin? 5 ne. 22

o

gy

TRCIIT ST -

T k. ——— . - -

1
' Pver ] YU HIAN U

PLATE, STEEL , 6 X I100.....

b8 ity
,

| aLuwnun $BI-0IS/22015_|

aNHT | awatuan | uwe




SLOT (S )

CUAUVINIYF
poth

" N [ ¢ o,
i ~
WA had Wy NN ARAHANMAIUNA
DIMENSIONS N mm.
MATERIAL _ MATERIAL &
novger | T b e e f e [ E | og |0 | (g xa SURFACE FINISHING
STEEL SIZE 1 X0,
I S %
PARMIRUBAAN N
PR
01030100 | 12%x 100 [ 8501 40 | 95 | 50 {140 | 24 | 18 | 18 x 68 DML 55 SAuRnn
ﬂ’lNN’\ﬂ‘!iﬁ% ﬁ%]ﬂ.
i
FLAT STEEL BARS
TIS.55 HOT DIP
01030101 | 12x100 [ 700 |40 | 90 |60 |60 | 24 | 18 |18 x 78 GALV. ACC.TO PEA
. STANDARD.
”"“_‘" """“’w'—' mm——— oee N T - :l:)" N
N2 LM YLl PRI A N e L L
" ;\‘f,‘(\ Al Y 2 S -
wnt A AT ARERYE '{I wqdﬂ 7 Qe ALY, e
e ey - —— T et e o o o e —— -
";::;‘E’“";' Q//"'M ¥ 2 WumrieivA 5 nm 22,
S NN 3{: P
e - : AT ARE. S -2 IR
. 1 s M . N e ]
AT Vi 4 AN o
:1 ”z'd e m”b (] ?( d L T [
Pk --- HWWAVRNUURTOWRIY 940 12 x10 . )
.«*-«p‘m«}; i f’"" Ky vnasm 1S
4 X -

¢ i!

v

';...»\,—-s -

L AL “’Y"mmw alid?

A e

T

PLATE, STEEL, DOUBLE ARMING

12 X100..

F—

e




S SR Nl % N A TN
ALL DIMENSIONS ARE IN mm { INCH ) e S TVITE Y/ E"? ‘ﬁ’l
S

Ao e s —— {800 {67) - e
4
S @ o 7f
u 21" -
() 28 rorle—— 80 {2°) ——arlo—— 50 (2"} ——4- 251" P42 (15—
1
=4 yi= %4
T I_l/ —
L
-y J T I |
el FMOMAITANNINGT AN 306N W
J N4 ¢ inmanrune 9.0-25 w.) ;9
d«nmammm SUTABLE FOR STEEL STRANDED WRE meey
BOLT, CARRIAGE 50-98 waf (9.0~ 2.5 s W DANETER) SOE VEW
I ~
nninen
MATERIAL  NUMBER 02440102
el 4 "4
Ain munnded dan3m

‘ ¥ DESCRIPTION . CLAMB GUY, TRPLE BOLT

ng indnesy L
MA MLD STEEL

P onvdind
SURFACE FINISHING HOT DW GALV.
winin

WEIGHT

] ]

20 l l
| l — lt——ﬂs
l N\ /4
Eie
i \) ke 175 -
ay innina
N MATERIAL NUMBER 02440103
A Rrsiniianidinet
DESCRIPTION | LINK, CABLE SPACER
v '
inn MANAUNAN @ © HH. MK WON. 20
MATERIAL STEEL ROUND BAR @ 9 mm ACC. TO TIS. 20
MuAT P 8% |
SURFACE  FINISHING HOT DIP GALY.
wrrun
WEIGHT
N0 R INTIRIN T A AT '\"M r'\f ! “ Wanwnon oo
o M Awauma ‘
®NGININTIY ' LT L
Aun fedd v Aouining. 22.00.23
P §11M o oubei 7
Lninn m‘é..-sa‘ PEYA Iy unu;u » ‘g :2530..
. Am
, s TN . . » A mde 88 (W)
; i vl rranand iR NIIAIRAIARIGIAET y (M J
. IMRINGE AR 7 LT LT
' "'e’mum«dw .
e, RUUINASAZ- OB2I0R4. |
THNIMNINILINAUN CLAMR GUY AND LINK, CABLE SPACER L ,
unw R serbmin_L_unn




o
-

e d

- P T -
nwing; 1 indngusnaduduslendasourty uon. 1227 RSP 4
2 Innudinnisnmsussnou Tauigeusou uasfiamumundandiodsluvasnin es luasou
NOTES; 1 STEEL CHANNEL ACCORDING TO TiS 1227, TABLE 4.

2 AFTER FABRICATION, THE BRACKET SHALL BE GALVANIZED BY HOT-DIP PROCESS AND THE
MINIMUM AVERAGE THICKNESS OF ZINC-COATING SHALL BE NOT LESS THAN_B8S M%CRO&S. "

nisussnoutash 2304 A
ASSEMBLY No. 3905 A
600 -{ 100 }
T T
T gt
350
1 N 1Rl
siex30 DETAL
mm
¥ v sy . Saaanh
STEEL PLATE mm MATND, 1020440112
150 ‘i 10
sho 21
1 mm
L &
-] . |
¥ '8 A mdngurath 100e505
100 ~ STEEL CHANNEL
& o
N e 1 822 o
! mre
250 RSy :
228 —e—eri l .
i = o
- - 1 200 i1 i 1
lhn‘:tﬂ“‘\ 4 N 500 { 100 }
ELECTRIC WELDING
: 1 gro¥
< 7 o
A —
- ;
= ! ol
rwduiutonsm 1 L
T
U=Clamp 8
FOR CROUND TERWMINAL
SWRUDEA -, SARDAUAY nMwaR
DETAIL GROUND TERMINAL SECTION

. - —
NDURTEIUSSULIL ¥ -

iRty uss uUa0asfy . nq%lwwqﬁfuﬁuﬂqﬁ
Emg Q’J'\fWﬁd{/zza%& .......

K, —
aAans. Fowy i%‘m
ﬁquu'mum b’ ;

NSNS

o - »
mAnsauaLtiznEnndas

AMIUSUU 22 KV RS 33 KV

Yunuuy sw-018/44007,
DAUNUALLUY ...

frwumesiw..

AERIAL CABLE CORNER SUPPORT BRACKET
. FOR 22 kv AND 33 kv SYSTEMS

UUUIABMSAZ-015/560Q6

UM, 3 894U, L Uk




ONO7 WW 000E ‘ WW 9 X §9 X G21 * WaVSSO¥I I33LS TI3NNVHD

no o=
g 3
ﬁu, -
ol B
o =
3] o < 24
o S|4 £
" 000 1 | o n_n o | ¢k
ww 8y 3I0H 006 —— 0EIR 022 008 00% ommvﬁommtlllmu.aomlli_ ONjIvY4S 310H 17708 m “ WD -] = - =
ar e 2% -
I‘.~ M d - Oﬂlﬂ m =
g ! pt Aﬁ.m a5
wu 22¢ un_DI—.n 08L 002 114 4 ,m \c._m../v 002 (1}+72 Y ONIOWES 370H NId f%oﬁ»%t mx v.w EE
S e o T — T [ pp—— =13 = | Dn D = N
! k002 e 002 +k-00 <002+ = T X
1 ™
= ™
|
Y
b
2 |&] 8
wu a
016 370H g c] o
< e
-6 |=| oz
< ) <
@ A C O
g0 P !
= [24
VI. N © QO
ez @
L4 4 r D L
R ONOT ww g0g°2 " WwWw § X 06 X 001 " WaVYSSOND 13318 TT3NNVHID 2 & m -
< c8 Q| 5
& g
. < [= &
N " 0052 - o < g g = —
“u BI9 IT0H |+ 08E 022 00g 005 022+r——08E—+ ONIJVdS IT0H 1708 m g8 2 3 ¥
P i Dol | } i ! s i _ i y E Z © s
e S S o o oy ey e s o e e e i =t e g8 |2| %
M i R B i T 1 ¥ o T i 83 u.m 5
ww 22¢ 370H SLE oG L ve-00 00% _ &
ﬁ'. ||4» T_I. NJ&I.I lljl{.w.mﬂ"ﬁooomvﬁmhﬁxil\ﬂm.mmul ONIJYd4S 370H Nid olo o m 2. w
o S T eTEEY S Y3 ST PO e preeppes e pueypr <y, i tymyy g9 oy Sy Py wyfa £ 2o o res MR Hoa | peeid 2
} u Tegoze, 1 L T 1 e 002 e 002 ] “qomL. m a g m Y
3 25 |o|e 2
P - e o
e RN Rl B O
(]
c = o |8 on
- N
Dl_ ww 0l¢ 370H Wy o -
-
2 s
[T
(w4 uﬁn




PR

L]

LIMINARY

_ N i | N J_
| 7
F o — — - a - 1 -
T \.J

——t B / N
N RN -

& 1
B
| -

—/ i L S §
‘ LWIUNANBUY ~a
UNUNUReN WASHER,ROUND,FLAT

NUT, HEXAGON,DIN.555

. o {6 M. wisuszan | wwun | -
IAELRUAN . |TdRuasmsaui
DIMENSIONS IN mm (nn.) | nnosioo BU T
:ﬁfggﬁ WEIGHT MATERIAL AND
\ MAT. NO p|L|B | K|E | F|da|T
72\ max. (kgt)  |kg/100 Pes, |SURFACE FINISHING
d -
- 16 | 50 | 40| 10 | 24 | 27.7 19.2 13 5,000 wannan

gudun=a mu
WIRIFINUBY NAN.

STEEL

HOT DIP GALVA-
~NIZED ACC. TO
PEA STANDARD.

nawiminssilnwisasesauna hedmnsey  mMslwWdugine

afdu Safues JANN&lT WIVNUELN BN 16x50 wuuLaYd Sa2-015/40001

ufl 10 NNIAN 2540 BOLT, MACHINE, HEXAGON M.16x50 wiudl 1 vasduou 1wty




Nominal Thread Diameters and Pitches of Steel Bolts and Nuts

Bolts and Nuts shall have nominal thread diameters(d) and coarse

pitchéSP) as specified in the table below

Nominal Coarse Pitch(P)
Thread Diameter{d) )
in mm in mm
6 1
8 | 1.25
10 1.5
12 1.75
) 16 2
20 2.5
24 3




TECHNICAL SPECIFICATION DIVISION

PROVINCIAL ELECTRICITY AUTHORITY

TOLERANCE
Specification No. - Approved date : 31 3UA. 2582 Rev. No.: 01 | Form No. : - Page1of2
MANHIN (Addendum)
il s1eazden AlAUARIALARRY | dydnwnl | JU
(aduns)

1 | sz uenyay (veuwméin 89 veuwbn) +5 -3 L (1)
SpEEINYAREEnaag Slot fis Yauman

2 p = = +5 -3 A 2
JrerINAUInatagnay i Yauwman

3 | sreranyeaudnansg Slot fs yaaudnag Slot + 2 -2 X1 ©)
sreraInNYRAUEnatgnay i yerudnategnax

a v = P +1 -1 X2 (4)
szavanyarudnatznay fis yaaudnang Slot

s vaduruAudnatsgna 10 dadwns fe 24 Tades | +1 -1 DO )
WUIng Slot + 1 -1 d1, d2

6 | svezindeatialate Bolt +8 -0 B (6)

NUELHR :

1.

4’ 10 QU H L4
aarwntaglidluly Tunsdidsdalull

1.1 fimsfwmusdmiueaaedevludeimuanameiaui

12 fefmuamanadalddrdafianassuanamnssu (uen.) deq dedinsivuasinn
aanedoulusnasgugramnTsy (ien.) Reananud

2. suuanssnene wardnydnuel Wgfl Page 2 of 2

° e o ¢ ¢ad & P 3/ 1 ar ¢ o s [ [ v 3
EYWTS'Uﬂ'l‘iG\S’JﬂiUﬁ’liﬂtL’ll‘i‘Vl\“ﬂEN&Jﬂ’]‘STJ'i%ﬂEJUﬂL‘N'I‘lJ‘i’JﬁJﬂ‘Uﬁ’l‘iﬂLL’J%"E)‘Nﬂ WU anUsenu, Aouman

Hudu PEA veanudnsluntsnassusenauldnusmfuendamndnanan Tunmsasadusie




PROVINCIAL ELECTRICITY AUTHORITY

TECHNICAL SPECIFICATION DIVISION

TOLERANCE

Specification No. - Approved date : JLUA 762 Rev.No.:01 | Form No.:- | Page2of2

LY 1 U Qs d
gﬂsmmmama (o atyanyo

N\,

| |
_._._C_L) __________ _® ..... [

< X2 P
_._._ED_ ....... . _)_ B

y L ) X2 s

SUN (1 Ul (8)
T _ _____ _(—'_ __)_ B —._-.— .............. ._ -
A i Do

A
A 4




PROVINCIAL ELECTRICITY AUTHORITY
TECHNICAL SPECIFICATION DIVISION

Specification No. : RHDW-030/2563 gunsaidszneudmSuyaneudes

Page 1 of 2

C3 Schedule of detailed requirement

Invitation to Bid No. :

PEA
Item Quantity Description
Material No.

1 1010180301 Washer, lock, of spring steel, according to Table 1 of TIS 259, nominal size 16
(16.2 +g'8 mm diameter hole), 28.0 mm maximum outside diameter, 4.0 mm
minimum thickness, see Drawing SB1-015/24006

2 1010180400 Washer, round, flat, according to Table 5 of TIS 258, nominal size 16 (18 +8'7
mm diameter hole), 30 _g g mm outside diameter, 3.2 ig'z mm thickness.

3 1010110202 Bolt, machine, of mild steel, square head, similar to DIN 601, M16, 200 mm
long, length of thread 50 mm, complete with one (1) square nut, see Drawing
No. K31-09072.

4 1010110204 Bolt, machine, of mild steel, square head, similar to DIN 601, M16, 300 mm
long, length of thread 75 mm, complete with one (1) square nut, see Drawing
No. K31-09072.

5 1010110205 Bolt, machine, of mild steel, square head, similar to DIN 601, M16, 350 mm
long, length of thread 75 mm, complete with one (1) square nut, see Drawing
No. K31-09072.

6 1010110206 Bolt, machine, of mild steel, square head, similar to DIN 601, M16, 400 mm
long, length of thread 100 mm, complete with one (1) square nut, see Drawing
No. K31-09072.

PEA




PROVINCIAL ELECTRICITY AUTHORITY

TECHNICAL SPECIFICATION DIVISION

Specification No. : RHDW-030/2563 gunssitlsynevdmiuganewudems

Page 2 of 2

C3 Schedule of detailed requirement

Invitation to Bid No. :

Item

PEA

Material No.

Quantity

Description

1010110404

1010120006

1010030009

TSP

PEA

Bolt, machine, of mild steel, hexagon head, similar to DIN 601, M16, 50 mm

long, length of thread 40 mm, complete with one (1) hexagon nut and two (2)

round washers, similar to DIN 555 and DIN 126 respectively, see Drawing No.

SA2-015/40001.

Bolt, double arming, full thread, of mild steel, M16, 250 mm long, complete

with four (4) square nuts.

Clevis, for communication cable installation, flat steel, 4

50 +0.3

0 ’:i mm width,

_g3 Mm thickness, punched holes as shown in Drawing No.

SA3-015/63001

Note :

1.

Pitches of steel bolts and nuts shall be according to the attached ‘“Nominal
Thread Diameters and Pitches of Steel Bolts and Nuts” .
Dimensions and tolerances of M 16 machine bolts shall be as specified in the

attached “Dimensions and Tolerances of M 16 Machine Bolts” .

. ONLY threads of steel bolt and nut shall meet acceptance tests specified in the

attached “Acceptance Tests for Threads of Steel Bolt, Anchor, Rod and Nut” .
All ferrous materials shall be according to the attached Table “THICKNESS

OF ZINC COATING” .




PROVINCIAL ELECTRICITY AUTHORITY

TECHNICAL SPECIFICATION DIVISION

Specification No. : RHDW-030/2563 gilnseiszneudmTnyansudeas

Page 1 of1

C4 Price schedule
Invitation to Bid No. :

Manufacturer :
Trade-mark :

| Country of origin :

Unit Cost Total Cost

Item Mii‘:al Catalogue Description Quantity (See details & | (See details &
No. Condition Condition
Ne. attached) attached)

! 1010180301

2 1010180400

3 1010110202

4 1010110204

S 1010110205

6 1010110206

7 1010110404

8 1010120006

9 1010030009

Washer, lock, nominal size 16

Washer, round, nominal size 16

Bolt, machine, M 16 x 200 mm, complete with one (1) square nut.
Bolt, machine, M 16 x 300 mm, complete with one (1) square nut.
Bolt, machine, M 16 x 350 mm, complete with one (1) square nut.
Bolt, machine, M 16 x 400 mm, complete with one (1) square nut.

Bolt, machine, hexagon head, M 16 x 50 mm; complete with one (1) hexagon nut,

and two {2) round washers.

Bolt, double arming, M 16 x 250 mm, complete with four (4) square nuts.

Clevis, for communication cable installation, flat steel, punched holes

PEA




2 o LS L 2
Sy, o Y =

o?ea,ﬁ ﬂi
=

'u‘.ﬁ..

-Q--u vls.

er 5/24006

Tk = e et S




A
“ Q'\}t' - 4!3‘*- l (’,\‘
o = v
- {a} E-‘ ' 0
; F SR - 3,
K L - J
un
NUT
. niaen i . ﬁﬂﬁnnﬁm’&"’u‘ AnaTudn, wuinn
' OIMENSIONS IN MM WEIGHT ERIAL,, SURFACE
MAT.NO, o L 8 x T E F kg A100 Pea| FINISHING, REMARIKS,
ono200 MG 120 35 0.5 24 X2 {~ 244
onozoi | me | 170 | 50 | 08 | 2a | 32 |~324 &
g .
| R
omozoz MG 200 | 50 0.5 24 | 32 |=~4a02 ? &
. - o] ¥
w v
s Q A}
. € g e
oHICZ03 | Mis 250 | 75 s | 24 | 32 [™ag i 2 o
@ ~ Q
e - OROUR SUHORPUNI SUMPUIRPIUR IR, .- = - L
3 i )
% E o - 3
oHpzo4 | M6 300 | 75 05 | 24 | 32 [~% ic o g 2=
L] 2~ 2 b4
SSUUPIUUSUY RN SR S 3 A B S < a
g g ?g ﬂ- E F
onwzos | M6 | Mo | 75 | s | 2a | 32 | w638 ’g S H o .
g 328 L Q0
..... ke — . &% 0w Tx
oHio206 | M6 400 | ©O 05 | 24 52 |vTis :
‘ontozor | M 450 | 100 0S5 24 32 | w796
Clito208 M6 500 150 05 24 32 w B76
o J ' l) .
HuTiun m“mﬁluuﬁh:du‘gmsw NOTE | IF NOT OTHERWISE INDICATED
' Jq:nm?tll:nwmuun THE MACHINE BOLT IS FITTED
itmmmmmm WITH ONE SOUARE NUT
GFRMAN ADVISORY TEAM - PROVINCIAL ELECTRICITY AUTHORITY
i Pd
CI SR ST M e
scae R pare 2279 /56 z{anmnm B
T 7 - 2 - b S
R F AN FOR P E & oz AAmninT: imailancdniviiale
Orw by Hoevte
B re o BOLT, MACHINE .
Fosse ] (" 02 BOLTS, HARDWARE , STRAIN B SUSPENSION
. ] a¥ad -
RS Rl il
' P K 3i Q9072 SHEET NO. ! OF 1
A

e ‘ - I DR cp s £ s e e



PRELIMINARY

- /———
N, [ n A, J_
| 17 N
- — B y N~
N L
K i:
i
- X - —{4— 30
; — www——————r———.
L] -
BWIUNRNLUU 3
UVMNEEN WASHER,ROUND,FLAT
NUT,HEXAGON,DIN.555
P & ] HL. wssusedn | viwin n
IRFLRUN ‘ . 1 3dgmuasnisanuin
* DIMENSIONS IN mm (nn.) nn.si00 Byl
:;F;:gi WEIGHT MATERIAL AND
N
MAT. NO b LB | K)E | F|da T (egf)  |ke/100 Pes, {SURFACE FINISHING
- 18 | 50 | 40| 10 | 24| 27.7 192 13 5,000 wénna

udun=8 mw
HIRTHIUTDY NHA.

STEEL

HOT DIP GALVA-—

~NIZED ACC. TO
PEA STANDARD.

nagidnssilwwiuasiedaena  dhedensan mslwwduniima

Hfu Salums

ufl 10 unIEN 2540

gannfes WavinwEon By 16x50
BOLT. MACHINE, HEXAGON M.16x50

wnuft 1 omEeau 1wt




PRELIMINARY

+5
80 -3

+}
40 «1
OO W -
&
i i

+5
100 -3
5x @18 mm HOLE -
5 mm THICKNESS FLAT STEEL
I 1 o Lo i b o 1
W ;
= 2
- s a’»”: N ’n
: £
. . g‘t A
29
<3
X
- - {;\ ]
a i ﬁ‘l@/
L n 1
+3.3 .
_ 58-03 £
' wy
(4]

noslaivuamaneda  dedmnssn msliihdmgiinne

e wadd dmiuRnneanedodns WUULAYT. SB3-015/63001..
T 23302563 CLEVIS FOR COMMUNICATION CABLE INSTALLATION




Nominal Thread Diameters and Pitches of Steel Bolts and Nuts

Bolts and Nuts shall have nominal thread diameters{d)} and coarse

pitch, (P) as specified in the table below

Nominal Coarse Pitch(P)
Thread Diameter(d) .
in mm in mm
6 1
8 ' ‘ 1.25
10 1.5
| 12 1.75
: 16 2
20 / 2.5
24 3

I

£


http:pitch~.JP

pimensions and Tolerances OI N LD Maciiiing owaww

M 16 machine bclts shall have dimensions and tolerances as specified

in the takle helow :

o]
e b __,.| .
1
. Dimensions in mm
PEA Machine {Tolerances in mm)

Mat.No. ggi: q 1 b K e m

16 130 35 | 10.5 |26 or 24| 13
4 01110200 M 16x130 | + g:gg, t g y Jot g, (’:g:g, (* 8‘8) (+0.9)

i«'*’”;ﬁ/\“"\l 16 170 50 | 10.5 | 26 or 24 13
“WRJ _~:01110201 [M 16x170 o+ 0.95) t 3 y ot 6) (+2.0} (* 0 Yyl € + 0.9)

i [-o.70" -z -0 '8 - 0.8 +

/ 01110202 [ 16x200 | 5 0185, | 473 AN e b i S
. G {C s el [tio ]t ro

16 250 75 10.5 26 or.24 13
OLI0203 M 16x250 |+ 0.95) |+ 5 e+ &2 Y Jor 3 o)+ 0.9

01110204 W 16x300 | + 0.85. | + 5. PN et i i B
G (i a0

« 16 350 75 | 10.5 |26 or 24f 13
SRR Rl el 56 +3 I Ch-poe] (a1 [or- S-S I (SPIPON REPRLRY

““”MP“‘\‘ N 16 400 | 100 | 10.5 |26 or 24] 13
I A i T O I 1 P Y

\' 16 aso [ 100 | 10.5 |26 or 24 13
oo o sosso | 938, T | |k [ 0] o

01110208 v 16x500 |+ 0.85. |+ 9 | 38 | +270 e v
(Coo70) 23,190 2ol |Cole? [( Z o] 209

- Note : Thread length {(b) is measured from the end of the bolt to
the last thread of nut entering.



Acceptance Tests for Threads of Steel Bolt, Anchor Rod, and Nut

1. Nuts shall be run the entire length of the bolt thread section
without undue forcing with the fingers.

2. Strength tests shall be conducted with a minimum of three (3)
full threads of thread section beyohd the nut as shown in
Fig. 1; failure shall not occur in the threaded section
below the minimum strength (P) .

Kind of Bolt, and Anchor Rod Size i
Strength, P (kgf)
Machine bolt, Double arming bolt,| M 16 5,000
Double arming round eye bolt,
Round eye bolt, Stubbing bolt, M 20 9,000
Oval eye bolt, Single strand eye
bolt, Anchor rod M 24 14,100
J’i‘
UNTHREADED SECTION |
THREADED SECTION =
ADAPTOR
L
P = 3 MINMUM  THREE FULL THREADS

Eigiii



MINIMUM AVERAGE
STEEL CATEGORY/MATERIAL COATING THICKNESS (um)

BASTENERS :

- BOLT, PIN, NUT, LOCK NUT : ¢
-UPTOM 10 ) 43
-OVER M 10 . 53

- WASHER, LOCKWASHER <476 43

476 - 6,35 53

- ANCHOR ROD . 80

CASTINGS : %6

- SOCKET EYE, SOCKET CLEVIS, STRAIN CLAMP, etc., -

FORGED ARTICLES :

- BALL HOOK, Y CLEVIS BALL, BALL CLEVIS, BALL EYE, - 56

CLBVIS BYE, ANCHOR SHACKLES, et.,
STRUCTURAL SHAPE :
- STREL CHANNEL, STEEL ANGLE, CROSSARM STREL, <16 45
BAYONET, GROUND ROD, etc., <32 65
32-64 85
> 6.4 100
SIRIP :
- BRACE, GUY THIMBLE, GUY GUARD, RACK, CLEVIS, <16 45
STEEL BRACKET, PLATE STEEL, SPACER PLATE, etc., <32 65
<48 75
4.8 -64 85
> 6.4 100
PIPE : 532 75

NOTE : THICKNESS OF OOATING OF SPECIMENS SHALL BE MEASURED WITH A MAGNENC MEASURING INSIRUMENT

*MICROTEST " OR" FLECTROMAGNEINC COATING THICKNESS GAUGE "
Form No. 930296

Page 10f1


http:93-012.96

PROVINCIAL ELECTRICITY AUTHORITY
TECHNICAL SPECIFICATION DIVISION

TOLERANCE
Specification No. - Approved date : 31 UA 2562 Rev.No.:01 | FormNo.:- | Pagelof2
NANNIN (Addendum
ﬂ‘ -k ¢ -t L d e < P>
i Teasdun AAMAIIAIAREY | duanenl | JUR
Gaduns)

1 | ssoraenn Tl (Rauwan fe Yauman) +5 -3 L (1
srrngaguinansg Slot fia vauwman

2 P - = +5 -3 A (2
syErINYRgUdnaznal 8 veuman

3 | ssgranamrudnanss Slot G gaeudnaneg Slot +2 -2 X1 (3)
srevINYAAUNaNINaN 13 yaAudnaagnay

4 e ke - - +1 -1 X2 )
sepsngagudnatgnay & geaudnang Slot

5 v uurudnagnay 10 dadwes e 24 Tadwns | + 1 -1 Do 5)
WuA3 Slot +1 -1 di, dz

6 | svevindeatelate Bolt +8 -0 B (6)

UG :
1. aanvanieslihlvie lunsdidaselus
1.1 fimsimusaeiurainedsvludetmuanianaiiaug
12 defmummanalialddreddanasgugaamnssu (uen.) feq Fdnsimundn

w N

A ol £
aarandouluINATEIUgREINNTTY (Bn.) ANaMUE?

v ' o e cq v o
junansnte uardganual TWgh Page 2 of 2
¢ v o <t s w P = ! o
dmsunisesiauaiauaifidestinsussnauldiusiuiuasawasdun Wy wanussiu, Aouman

Fhidu PEA veasdvslumsvaasssznauldnusuiuedaursandn tlunmseasiadudne



http:Vl~nfll1l.Lm

PROVINCIAL ELECTRICITY AUTHORITY
TECHNICAL SPECIFICATION DIVISION

TOLERANCE

Rev.No.: 01 | Form No.:- | Page2of2

Specification No. - Approved date : 31 UA %62

a4 1 LY 4
gﬂu’aﬂamwn Hazaeyany

N,
| |
_ ._._@ .......... {9 .....
« X2 >
_._._E} ....... - .)_. |
o » o X2 >
U7 (1 U7 (4)
_ “ ..... —(’— — .‘)_ B v—---—q ............... r-— —
R i) DO

; X1 s ) B R
mga%% @@ 51 !17|' (3) sﬂm"” (6) |
. PEA




o o o & o
Waulvinluusznaunisindansn

wr

wal & < G = al :l’ ar &
HEudeiaue wdpsfifinuieulausznounsindenandisil

o o “fouteiaussziosiuenansmanaia 1wy ufnaidon wuusy (Drawings) T1B9una
SRRURWIELUU (Type test reportsialenansdun auitlaseyliluseasBenan (Specification) 19
asufunienfiunisiudeiaus Tnslenansmamaiindenanagdeadunmamieufuienaisiuatiu
wazdeaduntuinenioniwdinguiiadu dwmduienarsmanaiaigdudeiausszdesnsen
swandsalusuurasives mslwihdrugiinis WM sRuivingu msliihdugineveanu
avsforlisuinsandiutaiauaiduenansmamaialiinsudou videhidulunuiissydredu

oo nslnfdiuginie sefinrsuanizienaisninnaia Wy uhnniden wuugy
(Drawings) $189 UNaNISNAABRULRNIZLUY (Type test reports) w%manm'sﬁ'uﬂﬁﬁzqwﬁmﬁmﬁ
Wuwuy (Type) vioidiugu (Model) finssiuiigButeiauassylilusensiauesanviniy Guus
TwavdenaiUn (Specification) sxyanufissmstenansmamatialiifiueg 9oy

{0 o dmSuiangunaain mslwihduginig dmuslildinusisausgneuinosidu (Price-
performance) lun1sfiansandode Houdorauentunanfusiniinuandidulumunusisuluusas
51815 uaziauussasaniali mslwihdugiinng Anazuuuludiureunusidudnaiite
Usgneunsiansandnderiu diudeiausasiestuenarsuaninuausilusiazinnsilfignies ua
asuduinwdeufunnstudeiaus mnnslwihdruniiniansisasundanuienansuaninuau i
fsnaniliigndes wiahinsutu mslwihdugiiaie anuansiayfosunliliesuuiluusasinoust
i

ﬁaﬁiﬂEJn'lsﬁ'ﬁqqUn‘mﬁﬁmﬂwﬁnaf'su.n“ﬂ.n'mﬁwumh’?ﬂﬂ?’mmﬁ'ﬂmﬂiznamnmﬁﬁﬁuiu
nsfisandede sufisdndiunsAnazuuussrinasisnn wasnasiBuazgniivusliluenansi
\Rentes”

o ¢ nydinsdategunsallnihudndnsufadsldonlussuvansds 115 kv wazssuy
Iy 22 kV wag 33 kv sulsun wieudadlvi Slaaaiwes weshnusnines gunsaidesiu aind
gunsnidnnay gninelui anglniln nieuvasnssua (Current transformers)  nfoudadusasy
(Voltage transformers) saufis fmasdwiuiandsaulnih mslwihdiuglinaveanuinsiazds
Wmihilwesnisiwihdugiinie wiedunuitldsunsudsieannisiniidugianadluasieaey
NIFUUMIRAALaENITAIUANANAIN i T5sugrdnnaunisdeuey Tnenisiwiidiugiinineadu
Hooneldarslumaiiuns wandeidssesdminvdordredunuariniy

fo ¢ nsdatendiouladiiiidmiuszuusiming §RlFsunsddodesdusenly nslni
drugiinn viedunuiildiunisudsdeannisiwidiugiiniadlunsieasunssuiunisnie
MIATUANAMNIN WALMIVAABU Bl 159ULHARBUNTd By IﬂaﬁﬂaaxLﬁ'ﬂﬂuaz%gumauﬁ@ﬁ%'u
nsdadodosUfiRnaenaisuuudiuiy b iy Tagnistnidiugfiniaezilugesnadldinelu
maiumns wandedswendmiinia wierdradunueviniy

., _
&9 loce AAIAY lode t@aﬁi ﬁé"



[5)

o o nsdiwaniozdntoilusenisd 185un1s3usesniunsyuIunis PEA Product
Acceptance mslwihdaugiiniaagaiiunassil
o.0 lunsinrsamanaiin mngduteiaus lauendadusitldiunisiusesai
nS¥UIUANS PEA Product Acceptance #ifslinunengnissuses Tuuuludusess veanisinilrdau
Qiina wieuenansuszneunsiauesian Taglideduionarsmamaiindug wazamenisunis
Asanna Widesiansanienarsmaaiia Inglidansluiusesivindu
b.lo ‘lwﬁgumaumimw%'uﬁaaﬁﬁ'ﬂ% minwagsensladuiagilild$unsiuses
MINNTHUIUNT PEA Product Acceptance Tinnnssun1snsaafuasmiiiun1sniaiunaging
muduneu uagisnsniuianues nslwihaugiinneiitaduldey w tagiu
il mnanTen1slaldsunmsiusesmmunszuIuns PEA Product Acceptance ﬁé‘fﬂﬁwuﬂm&‘l
msfusedinugnisumnsaaiuldienasuanisnaaeunmunmudndusianguadn uaz Product DNA
(enensiitaslunisnsndeunasinnsosndndusiludosiu fwsenaudeteya Type test waz
JUnmdUsEnausag vesnandusiteyszneunsasatuiiandanam Tnglidesdimaaausn
b fUurAISIALesIAN M3e Ay IwfesdulenatsuiunsHAnLaENITAIUAN
aunmmsnanlyl mslwihaugiinig danstwihdrugiinaveanuavslumsidnssaeulutuneu
3HAA (In Process) v3alvunu sufmhensisussdiuiinislwihdiugiinie Wnsiuseadn
sdunsanan Taealddreiirntuiuresmsivihdiuginie mndesnisamaaeuduilesan
nsmsreaeuasausnliiiuluauidouls wievdninmsii nsinihdugiiniaiivun grugnisiaue
51 vide Adygwenlugfuinveudildseifinturion

as =1

W o el a ¢ =
U0 o NINUEBUTEAUD LAUDHAN NI
o ' ed g 2 o & w
Jme Haudeiausazdesiniiunig foll
£ = T A ' & | e
a.e WasAnUININGS Nzdadaswuasyuu 22 kv Al azdesdinaaud@dulnu
=i . . | - v e e b Y PV 1
gazdenaa (Specifications) vesnsiwihdiugiinig wazdesdinuantivalateniia dail
-y =y é =3 as 1
do.e HanlaeNaaNTUTzaUnsallunSHANgUNSAIUSEANAINEININAT
' | = - et w o =
lidesndn m U wazsounsdadsldanulaglifigwiluandiniweiniads wazvieienvululssinad
ol ey [ ' ] ' & wael o ase
Wwedeld wuddlitesndt o wits lnensdlil fiudeiaus svdesduenarsuansdseifinisune
" - as as () = 4
(Reference List) w30 milvdoiusasingnin ummieuiumstuteiaus vise
[-1 = w a1 é’ =l v 1 = . i I
..o [UURAnfuIINUNTTunz dsuiunsinihdmuginiauds laun n1s
P . X 2 . ;
Yunzilu PEA Product Acceptance w3e PEA Product list wsensaungilsudug 7 n1sinidiu

= ]

e wel w | W a -~ el ol o ' o a
gilmafvun laensdlil doudeiaus edesBumbidesuseenstunzidoud galivuneny uwiauiu

u

a4 w -
NNTUUVBDLEAUD 1T

wwesinusnines @ind uavguninidanaulussuy

- ar ‘J 1 - ﬂ‘; 1
o.o.a Wundnduaniunisnaaesiadeldeuluszuvvesnisinidiu
a o 1 ad vd w v ol @ ' a &
pilanadinalvgud lnensdil fouteiaussssestuenaisiuseimnisiiunmaassfnsisldau
1 fad at A
MnMsindugiing swieuiunstiudeldus

¥ oet pAA Lo f@oynf\ }@,



& g Soon ool ¥
wlo @09 wazgunsaldanouluszuudiminefasdnde daudssuu 22 kv uld
ulawn Dropout fuse cutout, Disconnecting switches, Air break switches, Remote controlled
switches (SF¢, gas load break switches). Automatic switching equipment for switching power
capacitor bank uag Recloser agfpsinuauidulunuseadendia (Specifications) 98313
] = =i ey B d" ar J
Indgiinie wassivdinuanifdeladeni il
= e Ad =3 L3 as 1 5
wlo.e wanlaegkinniivszaumsallunisuangunsalussiandanannuiudn
| | =i o a ew o ' w | a | ad wel
Lidosndn o U uazdounsfnnaldaulusyuudmmiraudibidesnin ¢oo yn Inunsdlil Beiu
&/ A Qe at at a as
Joidaue azdpsdulenanTuanlszifinisuie (Reference List) wse wilidesusasaingndn unwdeury
o W -
NISEUVDLAUD Y50
[ a o cal 1 & =l as i o g 2
oo o [Wuwdndnsiniunstungieuiumsinihdiugiinauds loun ns
& - A & < = |
Yungileu PEA Product Acceptance %38 PEA Product List wSanstunsideudus insindidau

=Y o

ad vd w v o o as = = =l oy o » W
filnaimun laensdill foudelaue swdostunivdesusesnistunadeundilivuneiy umiouiy
ol W
nstiudelaue wse
[] = s cal 1 - & L 1
oo.m WUuRdnduAN1un1Ineassinaaldaulussuvveanisiiidiu
o @ i ad wel w - as 1 a oaw
pliaadinaulugudn Tnensdlil diudaiaussvdivsduionarsiusasnmsiiunisnaassinsaldiu
1 el s A 2
NN Thdugiinanwieuiunstudeiaus
d 2 = = o
o FEudelaueanIaiEueuIgesinlusnines adrduiegunsalianauluszuy
[ [ LN al-L 1=l asey = o =4 (Y ' v "R & wel a &
Ty Mnguanililiguani@nunszylilute we vie oo dwnanled wideulugindnnils
. @ at =l i =
Tuaygn (License) wazazsinslsziunsuasemunen1sa (Brand-Name or Trade-mark) Loy
A ilueygmuuian Teedlluaygn (Licensor) susipsiianant@niude o.o.o 130 olo.e WaIUA
nsel

=l el 3

ﬁi’ - & o .
Inensiiignannelalueyginagdevinnmvegeuianizuuy (Design or Type tests)
= - s o 1 A o =l
waiinwusnines @ind visegunsalfaneulusyuudmiemumnasguiitnualiluseazidenaa
(Specification) Tusiviaviun
o & wd W v . ol ary o » Y
vl faudeiauedestuluaygn (License) nétlinuneng snndeufuienaisuans
UsziAn15918 (Reference List) w3e wilsdeiusesaingnén velviluaygyn (Licensor) uwiauiu
=
nstudeLaue
wal 8 el 1o o v oW
o.« Mngiutelaus ausivazidealiilliuluniude o.e,0.lb uag o.a 4195
1 bl =) nd e z
nstiihdugiiniranuansineylidade
E} s s - Q’: 2/ ] o ]
1o & nstingunsallniiwdndwmsudasldnulussuveaneds 115 kv wazszuudmming
22 kV wag 33 kv sulsiun vifeudaslnih Sleaaiwes weshnusnines gunsaidesiu @ gunsaldn
nou gniaglviln aglufin villeuvasnseua (Curent  transformers) wifaudasusediu (Voltage
== o L3 = L o = wr -
transformers) TIMRAIMBIIUMYUTTN o Wa Uay o admSuiandnlni wdnduelainiun
| = ar é’ ] ars = 5 & =l ar w e ]
m3lwihehugilnig dndelunsiasdyg wasinnsldnuneluszezing b U duaniuil msliidin
Qina indedaudananisnsiaiuaingavine wieaeluszesinaiduniuisieasideaaina
. . o =l g o ar d = at - i 121 o
(Specification) fiviun flafRnsdrgaduiiioananamnnveIRandu inunInnuenfmualily
al i i a4 o al =l a4 o
seavidenawna (Specification) wiarmualiludeulvdu Tuveulwavessu (TOR) i mualilu
as o A 1 o v o a a w a ' - ay
dyqdnde nslivhdnglinnszdedvsnisiaussinwdndueiningtd uazavbidadaiiunstanin
5 ' = at A’ nj s e&’ [ 1 =3 =4 o | = L 5
vslusgninmsiansandade wasivzusenadadelmisunindnanuse dunudminendndusidue
1 s = o o =y CI ar I = &
azdaununIUTuuRguawEaadue wagdiunsudluliduneensuain msliihdugiinauds

#o ow na1nl bdoe @é}}m&l l’



@

uagdosiufmuaszevian o Weu tuaniuil nsliihdugiinnm findsdeudsinansmsiauesian
HARSMIIRINET Y
viai] Geuldinanaliliinaldveiudoundsludsnsindendshifideutleiiimualy
fo « Frurmsiausnimezdosdsimuniudseuianduaednuaisnuslimihsnudade
uaz/vse mhenuiigedndwesmsliwihdiugiiniansuaamdithitiosndn o Yuvhns wieiegld
Amuatinfuasieiuseluuazezdesdumeuianszninuian oz.mo U. i1 alb.oo u. vesiuiiviinis
danaunie
10 @0 AMFATIEDUANINAIUNIUYBSEeglllsufuaulu n1slnirdaiugiining
lafmuanuIUiR dmiuniameaeuaniwitumuvesagegiiiemindeaiuauiu au uen. bcea
atuahgn il
@0.0 NUNAIDYI
AuznssUNIsATIRTUNsIihdIugiinimazduiteg waelwihinaaaiaeuies
(Aindenuazuauiuudy) uashiesavadeuamANTRR19Y SIINSNARBUANWFUYILYES
anglnigios sudinmslaihdugiiniafvue
0.l WN1IVAFBUANINAIUNIY Tenaaeuanmiunuduluag wen. ge ady
agn Inethiawzaladiidunansunmenanmiunu Taefannuiuniui gamgiivies wiuiu
WHueilgamail wo ssmiwaidua Tagdsnsau wen.dvun e lusumsanmiumusioly
eo.o NI anemnogiiflnfindervziedtiunveaaeui efidann
sumulsiviu fai uen ocn atuargafualy
o o0 Waginslwihdruginiasmualiinismaaeuiienisnsaiuluidediiunis
naapuwuUYhay suiagliannsatinduinldewls gdygrazdeiniaglmivmawmiiielviasy
Sruumuiissyliludganounsiiihdiuginaiuseuianildnu Tnenslwihdiugiinaays
wilsdeudalidevesmaunu melu & fuinisduanntuilasundideuds mngdnygyilaidaun
nauwnmumelunaniifmun msliihdiugiiniaezAnuiunsddwesandrlusniniesas oloo 189
yarmianmhnmauny wastunefesiuiagiimaasundadigarunduly anelu mo Fu ndsanldi
Wanumaunulinisinihdugiiniaudgs winguielivszasiazsuiagaulvivinnisdeudenisinieau
piinanuitefiagsiiunseely
10 ob m'i“ﬁ'rsm'nmﬁ'aﬂﬁmnaa%mwﬁ’um51ﬂﬁ1ﬁ3uqﬁmmm?wzmU'Lumm mo TU
ﬁuﬁm1n’3’uﬁﬂwﬂwﬁ'\dauqﬁmﬂiﬁﬁm'ﬁmw%'uﬁaﬁﬁ@:ﬁmzyﬂdauavgnﬁaaﬁau%’aaué’a’luLWiazmm
wagvimgdtyloudnsisenioimsiuiduliiuyananisuen
o om fuuznsiauenmazdesiulsziuanutaunwissduiionnanmsldnunnnng
voagdunailifosnit e U tufinanfuiinsinihdugiinialdfuneunds uu
oo YuBuivainuaudussianiiausigai desfulseiununmiduia
Lifesndn mo Fu tudiatuiinslnihdrugiinieldFuseuud
oo WagUszinndadeluifesiuussiunmuamunailitesndt m U 1y
wAswazldeadUa (Specification) fAmuasseznafulseiuamnmliznnndt m U fufiafuitnas
ihduglinaldsuneuud Witeszernanfulssiunmnmitduualilussasdenan
-On-load tap-changing power transformers for 115 kV
subtransmission substation

T ow AA1AL LEDE E(W ff



-Three-phase automatic voltage regulators (AVR) for 22 kV and 33
kV 50 Hz distribution System

-Single-phase and Three-phase transformers for 22 kV and 33 KV
50 Hz distribution system with and without ability to withstand
short circuit

-Remote controlled switches for 22 kV and 33 kV 50 Hz
distribution system

-Solid dielectric three-phase automatic reclosers for 22 kV and 33
kV 50 Hz distribution System

-Automatic switching equipment for HV power capacitor Bank
-Single-phase and Three-phase electromechanica and electronic
energy meters

al 4 ar . - - -
@en.en waqmmmﬁmﬂu Porcelain cable spacer with grip locks and High-
Density Polyethylene (HDPE) cable spacers and snap-tie fiosiuussiugunmiunanlidesnin ¢ ¥
ar s ot ﬁl 1 - al
wudaiunnisinihdugiinalasuneuudd
s - I nﬂ al = =l o) el ar -y q‘ ]
WagiinANunnsaliasaniaguasvierlilelid desiudanmsuiluvieivasuln
Wissuieslnghifnyar nelu mo Hu Wudasniuiildfuudaannnisinidiuginne wazmnarm
unwsasdananidumglviiieaudemeviefingUivelagiu fuusnsiauesaasdiesiviavey
YalgAndeevianun audenmuayill was/vieseazidundaila (Specification) azinuunly lng
Liigivelaugslag
Y v W - | a | @ W
Tunsdlnguugmsiauemaiuiagluuile viemsiwidugiinadaeuasviguus
o ] 1 ar E-I - o ar
nswauesAluanidunsuily wasgyugnsauesmdweuianiuilundiAuiufimuniagl mo Ju
° a [Y) ) i | ar @ @ = oa o
HYugnsauDIIAABIreefvuanal fulsriuaudgaunnssavindudmwIniumiiuainimue
at s 1 s o L7 ar =Y a d& o
mo Ju lagturaainiuasuiivuaalsulseiudy damsunsanunlawdltadanuniivuniian
s ar L% o o s d - o ar as I as 1 ot SJ
Fuusenu IugemruenusuILILUAALINNAINUA smo TU Iﬂ&luumammumuauwaamu’ﬂma%m
=l a . i = [ i - ar = LY s i
Beues wiusingdl wagganlinisinihdugiinausuidumeiuludnm Jeuas o.odeox 18951
ar 1 da' = = o
WagaunByaaiy nudlufuimug
19 o WNTINITINTDIAINNIINIUF I oo ar1uuImMTUlY SIUTINITIATIAIIUY
&) | . o P i @ &
Wunguuszningm (Bid Group)ninaldumawd ¢oo duumiull (mMaussnanmgnsTunsal
Fiatdeiuniveie 139 wesgutuiveslsvisuazsuadesiuniaialunisdntedninem
v ar . 1 as ey, ar &' s & -, as at
AUTENBUNTS ARdaliEl muung e wiinszswdygRnisdndedadnuasnsuinsvanninsy
L v ar £ ot g at b
WA, bdoo) fiisamnsiauasinazdediuleuiswazuuininistesfunisvasnlunisindedadng
b7 5 st C‘ 1
WIDUVA ABILUULBNANTVENGIU WASWUUATIVERUTBYATRIEUTENBUNM NIt TN SR IAT Y
4 - z 1 EI{ v
TAsINN5NIRUAMS ¢oo aruumduly Usenauiduienansnisiaussnen T seneunsazaol
nMsaniunsauuuasIvEeutaansuiIunYedRsiunsRTRuaNTRves [lauasia
A % Y \ - v | w & v
vailReulunute e AandasEuldduEiun ¢ NS beve 1wl

%’EJ b AR bdbe @%\M i’



D

{9 o Tnssnsdadodadieilinaiudaus o ooo Auumiuly  asdesduiiunsa
Usgniaamznssunsausmiiedestunisain (a.Um) Feswumanasisnislunsdiiiveu
Tassnsanusaniietostunismasalunisdndedadnaniady WUUVBITBANAIAMETIN NITARLEDN
HAUNANITA] LAZNITININTIBNUALNING e LAY UINT) o u:viqw-is3wﬂ't:gfg”ﬁm'iﬁ'm$'aﬁ’mﬁw
WazMIUIMINANNIATE W.A. béoo Uazldiu Anden MnamnssunsaNsmiietosiunismain
(A.U..) Tidavirdonnasnmusssu (integrity pact :IP)

Fuszasrvzidsunsiauesialulasainisdavirdennatamusssuazfesasuuly
fonnasqusssudauduenasiidunieufuienaisiauesan mnliasusludonnasnusssuarliil
avisuthsunsiauesailulasinisi

%E) ba AAAL bEoe E(%\Ow\cl ,{(r



